YEAR 6

Key
Vocabulary:
Sma‘ll Ste_ps: What is the value of the digit 4 in each of the numbers in the Keg Q uestions: million
1. Numbers to place value chart? *  Where do the commas go when you write one million in place value
1000000 woovs S | fove ol
2. Numbers to » n o " T o « If 1,000,000 is the whole, what could the parts be? patterns
10,000,000. ; 5 ) . * How else can you partition the number? ones
3. Read and write *  Which columns will change if you add/subtract 10, 100, tens
b ’ > N 0 z 1,000 d h ber?
numbers to , .. to and from the number: hundreds
10,000,000. ‘ 4 ’ ! s e *  When do you use placeholders in numbers? thousands
4.  Powers of 10. 8 ! 2 . 4 N ten thousands
5. Number line to What number is shown in the place value chart? hundred thousands
10,000:000- Complete the number sentences. T _ Gattegno chart
6. Compareand order g0, 551 = 600,000 + " +20+1 g 5 5 » . 5 partitioning
any integers. 0
7 Romymd a?tg integer = 300,000 + 4,000 + 700 + 4 o0 o9 | ® o9 o9 ®® composing
. . ' commas
8. Negative numbers. > 2,000 + & + 60,000 + 500 + 700,000 = __ o® o9 @ o9 figures
o® 23 ® whole
100,000 [200,000| 300,000 . 500,000 600,000 | 700,000 | 500,000 | 900,000 parts
What will the number be if you add four counters to the: value
10,000 | 20,000 | 30,000 | 40,000 | 50,000 . 70,000 | 80,000 | 90,000 tens column add
ten-thousands column subtract
1,000 | 2,000 | 3000 | 4,000 | 5000 | 6000 | 7000 | 8000 | 9,000
hundreds column? placeholders

100 200 300 400 Soo0 600 T BO0 900

Stem Sentences:
The value of the in is .
The column before/after the column is the column.

10 20 30 A0 50 a0 70 80 S

1 2 3 4 5 -] 7 . g




YEAR 6

Key
P - ) Vocabulary:
Small Steps: at number is represented? Keu Questlons: ten million g
1. Numbers to O @'@ m @@ @@ OO oo *  Where do the commas go when writing 7-digit numbers? 7-digit
1 00. How does this connect to place value charts?
000,000 e S0000 00 ow does this connect o p commas
2. Numbers to @ @@ * How does the place value chart help you to represent separators
10,000,000. large numbers? place value
: ead and write Match the numbers to the representations. . at is the value of each digit in the number: Gattegno chart
3. Read and writ What is the val h digit in th ber?
numbers to * Are 7-digit numbers always greater than 1,000,0007 part-whole
M Tth| ™| 1| T .
10,000,000. a1 312 » H,,', 299 H *  When do you use placeholders in numbers? partition
4.  Powers of 10. e » *  What is the same and what is different about counting in value
5.  Number line to 1,000s and counting in 1,000,000s? greater
10,000,000. *  When a number is written with two commas, what does placeholders
. Compare and order : 410,000 1.000.312 at tell you about the size of the number:
6. Comp d ord Lo | that tell you about th th ber? same
any integers. *  What do the numbers before this comma represent? different
7. Round any integer. O o) 100 * How do you write “one million” in words and numerals? column
8. Negative numbers. 1,410,312 O (o) o o ) * How do you write “half a million” in words and numerals? numerals
() ool 1 *  When do we use “and” when reading or writing a
Alex is using o part-whole model to help write the number number?
4,326,509 in words,
Here is o number shown on a Gattegno chart.
1.000,000(2, 0000003, 000, 00014, 000, 000 s.mu.mummul?.um,mu B, 000, 0009, 000,000 Ste m S e n'te nces :
100,000| 200,000 300, 000 | 400,000 | 500,000 | &00,000 | 700,000 (S00, 000 | 900, 000 Y The Val.u.e O_f the i.n is
10,000 | 20,000 | @B,000 | 40,000 | 50,000 | 60,000 | 70,000 | £0,000 | 90,000 )
1,000 | 2000 | 3000 | 4,000 | 5000 | 6000 | 7000 | 8000 | 9000 ° The column before/after the column is the column.
T T M o e * The digit before the first/second commas is . This part of
forty million and three hundred and fwerty-six thousand L 2 = é = = z - = the number is said/wrltten as_____.
ond five hundred and nine Write in words the number that is: * The digit after the first/second commas is . This part of the
80 greater than this number b . d/ r'tten as
What mistakes has Alex made? 80 less than this number number 1S sawd/wrt —
80,000 greater than this number * The whole of the number is said/written as )

Write 4,326,509 currectlg in words, 20,000 less than this number.
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Small Steps:

Numbers to
1,000,000.
Numbers to
10,000,000.

Read and write
numbers to
10,000,000.
Powers of 10.
Number line to
10,000,000.
Compare and order
any integers.
Round any integer.
Negative numbers.

What number is shown on the Gottegno chart?

1.I]lZII].l]]IZJ2,I]lIﬂ.I]4]I]

30040, 000
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Use the chart to make the number one hundred times the size
of the number shown.

Use the chart to make the number one-hundredth the size of
the number shown.

Annie is thinking of a number.

1000 maore
than my number
iz 4,700

)

[ annie |

Whaot number is 1,000 times the size of
Annie’s number?

Tommy is thinking of a number.

@

[ Tommy )

is

The number
one-hundredth the
size of my number

38,746

What number is 100 less than
Tommy's number?

Key Questions:

* How can you tell if a number is a power of 10?

* Is this number a multiple of a power of 10? How can you
tell?

* If you move a digit one/two places to the left in a place
value chart, how many times greater is the value of the
digit?

* How can you use a Gattegno chart to find a number 10
times/one-tenth the size of a given number?

Which calculations haowve the same answers?

YEAR 6

Key

Vocabulary:

460 = 10 46,000 + 1,000 46 = 10 =10

46 =100 =100 460 =10+ 100 4,600+ 10= 1,000

Stem Sentences:
__is 10 times the size of , SO
of .
__is 100 times the size of , SO
size of )
Multiplying/dividing by 10 twice/three times is the same as
multiplying/dividing by ____.

is one-tenth the size

is one-hundredth the

multiplying
dividing
ten
hundred
thousand
place value
integers
10/100/1000
times the size
one-tenth
one-hundredth
one-thousandth
increase
decrease
power of 10
columns
adjacent
multiple
digit
greater
value
Gattegno chart




YEAR 6

Key
Vocabulary:
Small StePS= + Keg Questions: ten thousand
1. Numbers to e *  What are the values of the start and the end of the million
1,000,000. 0 10 number line? number lines
2. Numbers to | | : I \ | + | I | | *  What is each interval worth? equal
10,000,000. | | ] 1 | | | ] i | | idpoi
) ) . 0 10.000 * How many small divisions are there between each of the midpoints
3. Read and write ' large divisions on the number line? What is each small divisions
numbers to | | T | | | | | | | | interval worth? value
10,000,000. 0 10,000,000 *  What is the same and what is different about a number interval
4. Powers Of 10. line that goes from O to 10,000 and a number line that worth
o. Number line to Find the difference between P and Q. goes from 0 to 10,000,0007? same
10,000,000. 10,000,000 *  What is the midpoint between and ? different
6. Com.pare and order T *  What is each interval worth if one million is split into multiple
any integers. P two/four/five/ten equal parts?
7. Round any integer.
8. Negative numbers. — Here is a number line.
0 1 2 i 4 s & 7 & 9 10
ala) —_— |:| ol Hbcer mil licn il ni mill ko mil bizn e loin mill ko mil bizn rmd lion millicn
g A ) — Draw arrows to show the positions of these numbers on the
+ number line,
- r -t 1 1 1 1 | ]
ﬂ m:lnn mlzl:ll'l mlﬂnn mlld.nn mf-::ll'l mlﬁnn ml?l:ll'l mlal:ll'l mlgnn lT;‘lEI'I 1Jmuimn ﬁm u"d n hulf millinn Eim’tm B‘BE:}FM
Timy says A is pointing to 3,050,000 o
Explain the mistake that Tiny has made. — Stem Sentences .
/
b — * The previous multiple of is
5 000,000 — ¢ The next multiple of is




YEAR 6

Key
) Vocabulary:
Small Steps: Which is the greater number in each pair? . Keg QU.?S.tFOIIS: compare
1. Numbers to *  What is the value of each digit in the number? order
1,000,000. > 62,800 60,820 *  Which digit in each number has the greatest value? What integers
2.  Numbers to is the value of these digits? million
10,000,000. - e *  When comparing two numbers with the same number of ten million
3. Read and write - Boazan 8.643.271 digits, what do you look at first? digits
numbers to * What is the difference between ascending and descending place value
10,000,000. Explain how you know. order? symbols
4.  Powers of 10. * What is different about comparing numbers with the same greater than
5. Number line to Complete the statements to make them true. number of digits and comparing numbers with different less than
10,000,000. S— number of digits. value
6. Compare and order %a: O | difference
any integers. ascending

~

; m | m|H|[T .
: Round. ang mteger. ane IR @ ¢ Write the numbers in oscending order, deSCE’Ndmg
8. Negative numbers. s g
6,503,102 651,300 6,550,021 690,210

i Which calculotion has the greater answer?

Wrrite <, = or = to make the statements correct. 500,000 + 50,000 + 7,000 400,000 + 256,000
Here are three numbers ordered from the greatest to the
smallest, but one number has been covered up.
62,520 602,250
threz hundred
3,218,000 399,875 and thidt .
thousand and
thirty-th .
426,000 O forty-four thousand A @ Stem senten’ces =
* The value of the first digit in the number is

990,099 O one million . is less than/greater than

What might the covered number be?



YEAR 6

Key
) Vocabulary:
Small Steps: o Key Questions: rounding
1. Numbers to T *  Which multiples of 1,000,000 does the number lie million
8,000,000 9,000,000
1,000,000. between? power of 10
2. Numbers to Draw an arrow to show the approximate position of 8,640,000 * How can you represent the rounding of this number on a  hyndred thousand
10,000,000. on the number line. number line? previous
3. Read and write Round 8,640,000 to the nearest million, *  Which division on the number line is the number closer next
numbers to to? multiples
10,000,000. " " . *  What is the number rounded to the nearest million? midpoints
4.  Powers of 10. Y ) o0 o0 o9  ®® *  What is the most appropriate way of rounding this number lines
5. Number line to o9 o9 o9 | o9 9 number? closer to
10,000,000. ® o9 oo o9 oo *  Which place value column should you look at to round the halfwa
® |99 o0 o0 J
6. Compare and order ® ® number to the nearest ten/hundred/thousand/ten greater
any integers. thousand/hundred thousand/million? division

Round the number in the place value chart to:

~

Round any integer.
8. Negative numbers.

the nearest ten thousand place value

the nearest hundred thousand column

the nearest million. nearest
The population of London is 8,982,604

Between which two multiples of 1,000,000 does this number lie?
Round the population of London to the nearest million.

My number rounds
to 38,000 to the
nearest thausand.

In April 2021, the average price of o house in England
was £273 486

Round this price to the nearest £100,000
Round this price to the nearest £10,000

Round this price to the nearest £1,000
What is the greatest possible value of Dexter's number? Which do you think is the most

Stem Sentences:
¢ The previous multiple of is
* The next multiple of is
*  rounded to the nearest is

What is the smallest possible volue of Dexter's number? appropriate number to round the price to?




YEAR 6

Key

) Vocabulary:
Small Ste_pS: Ehc::thternpern::ure:czﬁ Keg QueStlons: negatlve numbers
1. Numbers to If:ht_:'m“met” 5;' e * What is the same and what is different about the numbers number line
emperature drops by 1 *C, .
1 OOO 000 whaot termnperature will the 2 and -2 (ne atlve tWO)-I>
) ) pe g zero
thermometer show? H H . .
2. Numbers to e e a5 o warmer * How far is -5 from zero? How far is -5 from 1? horizontal/vertical
10,000,000. than the tamparatura shown *  Which is the greater temperature, -1 degrees or -2 temperatures
3. Read and write on the thermemeter? degrees? thermometer
numbers to * How do you find the difference between two negative adding
10,000,000. numbers? subtracting
4.  Powers of 10. * How do you find the difference between a positive number positive
5' Number l'lne to Th;z table shows the temperatures in four places ona day Cln.d. a negatlve n.l.lmber? negative
In january. . . . .
10,000,000. *  What is the same and what is different about counting difference
Brodford 2°C .
6. Compare and order o forwards/backwards along a number line beyond zer? calculating
any integers. Hariow S intervals
i Aberdeen -7°C
7' Round: any mteger' Use the number line to answer the questions. same
8. Negative numbers. Southampton 4°C different
| R TR N NN S RN TR BN B
. | —t— | | 11 degrees
Which place has the lowest termperature? -5 | -3 =2 -1 0 i 2 3 4 [ d
Work out the difference between the temperature in Harlow -]co rwaras
and the temperature in Southampton. What is 6 less than 47 backwards
E‘le :E)ﬂ: d:g the temperature ir_'l EErud;?ﬂr:Iddmpped by 6°C. wWhat is 5 maore than =27 greater than
ork out the new temperature in Bra 8
F What is the difference between 3 and -37 |.€SS than
Complete the number sequences. Find different wous of completing
the calculation.
8 || 5| 2| : Stem Sentences:
. . * To find the number ____ greater/lessthan __ I count __
-11 |, =31 1 | on the number line.

. is away from zero.



YEAR 6

Key
) Vocabulary:
Small Steps: Key Questions: dd
— Find th he calculations. . g — .
1. Add and subtract integers. ndt E?”m,mm, e culum”? - *  What is the greatest digit you can have in a place subtract
3. Common multiples. Cl+|2/s]73]a | -] e[z 8052 * How do you exchange when adding? formal column method
4. Rules of divisibility. I * How do you exchange when subtracting? mental strategy
5.  Primes to 100. e *  Which columns are affected by the exchange? place value
6. Square and cube numbers. * How do you know whether to add or subtract the multi-step
7. Multlply up to a 4-di9it Which calculotions would you work out mentally, and which numbers? operatlons
number by a 2-digit would you werk out using the column method? *  How can you check your answer to the calculation? methods
number. 67,832 + 5,258 834 501 - 295 999 450,000 + 201,000 exchang es
8. Solve problems with ] . reatest
mult'lp lication & million subtract 35 million e Find the difference between & and B. Q gcolumn
q_ Short d.iViSiOﬂ. Work out the answers to the calculations.
10. Division using factors. ) o A
1 1 Introductlon t lon Find the missing digits.
) T -
lelSlOYT. N . REIEICIFIE D 20,000 26,000
12. Long division with T3] Ts[e (0=
remainders. BODEBEE
. 1 B
13. Solve problems with .|,
L N SN T SR N N B |
division. Tt T 1
_ 32,500 42,500
14. Solve multi-step problems.
: The perimeter of the triangle is equal to the perimeter of the
15. Order of operations. P gle s eq P

rectongle. Work out the unknown length of the triangle.

16. Mental calculations and Stem Sentences:

estimation. Iﬁ? mm 155V mm * In column addition/subtraction, we start with the place
17. Reason from known facts. value column.
’ _

184 mm ' 177 mm * The is in the column. It represents :




YEAR 6

Key
Small St Keu Questi Vocabulary:
ma eps: e uestions:
'p ; Find the comman factors of each pair of numbers, l;l 5 -f actors
1. Add and subtract integers. ¢ What are the factors of r common factors
2. Common factors. 20and 30 28 and 45 24 and 40 ¢ What factors do and have in common? arrays
3. Common multiples. ¢ How can you easily tell if 2/5/10 is a factor of number? times-tables
4. Rules of divisibility. * If you know one factor of a number, how can you use it rules of divisibility
. . ? .
5. Primes to 100. \Whika the numbers in the sarting diogram to find another factor of the-a‘> number? pairs
6. Square and cube numbers. * Is 1 afactor of all numbers: largest
7. Multiply up to a 4-digit P23 4 s 8 B0 a2 15 24 30« How can you work systematically to find all the factors of HCF
number by a 2-digit . e toreofan a number? highest common factor
number. systematically
8. Solve problems with
multiplication. Here is o table for sorting numbers.
9. Short division. ] _
10. Division using factors. Write one number in each box.
11. Introduction to long
division. _ Foctor of & Not a factor of 6
12. Long division with List the cormmen factors of 24 and 30 Factar of
remainders.
13. Solve problems with Not a factor of 9
division. Decide if each statement is true or false.
14. Solve multi-step problems.
5 is a factor of both 95 and 75
15. Order of operations. — -
1 6 Mental calculatlons and 3 is a comman factor of 45 and 54 stem sentences:
estimation. 4 ig not a commeon factor of 56 and 80 QE— _fO.CtOY o-]c all number. )
17. Reason from known facts. * The largest factor of a number is always .

. is a factor of because is in the times-table.
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10.
11.

12.
13.
14.
15.
16.

17.

Small Steps:

Add and subtract integers.

Common factors.
Common multiples.
Rules of divisibility.
Primes to 100.

Square and cube numbers.

Multiply up to a 4-digit
number by a 2-digit
number.

Solve problems with
multiplication.

Short division.

Division using factors.
Introduction to long
division.

Long division with
remainders.

Solve problems with
division.

Solve multi-step problems.
Order of operations.
Mental calculations and
estimation.

Reason from known facts.

Here is o hundred square.

112|345 |8

111213 |14 15|16

19

21|22|23 24|25 |26

27

29

31(32(33 34|35 |36 (37| 36|39 |40
41|42 (43 |44 )45 |46 (47 | 48 | 49 | 50
51|52 (53 |54|55|56 (57| 56|59 |60
61|62 |63 |64 )65 |66 (67| 6B |69 |70
TU|72(73 |74 |75 |76 (77|76 |70 |80
B1|B2 |83 |54 )85 |86 (8788|8990
91|92 |93 | 94|95 (96 |97 | 98 |99 (100

Shaode the multiples of &

Circle the multiples of 5

What common multiples of 5 and & do you find?

Use these numbers to find other common multiples of 5 and &

Find the first three common multiples of each pair of numbers.

d4and 5 Sand 6

4and 8

Gand &8

Here is o table for sorting numbers.

Write one number in each box.

Multiple of &

Mot a multiple of 8

Multiple of 5

Mot @ multiple of 5

Key Questions:
How do you find the multiples of a number?
What multiples do and have in common?
What is the difference between a multiple and a factor?
Can a number be both a factor and a multiple of another
number?
How can you tell is a number is a multiple of another
number?
When do numbers have common multiples that are less
than their product?

Write the numbers in the sorting diogram.

12 18 40 & 48 24 16 42 56 54 30

multiples of 6 multiples of &

Stem Sentences:
The first multiple of a number is always .
is a multiple of because X

is a common multiple of and

YEAR 6

Key
Vocabulary:
multiples
times-tables
common multiples
factors
arrays
rules of divisibility
systematically
product
LCM
lowest common multiple
difference




YEAR 6

Key

Vocabulary:
Small Steps: Which of the numbers are divisible by 22 Ke".‘l Questions: rules of divisibility
1. Add and subtract integers. > o = * How does the ones digit help you to decide if a number is patterns
2. Common factors. divisible by 2, 5 or 10? times-tables
3. Common multiples. 10,308 111,111 224,528 *  How can you use the rule for divisibility by 2 to find out if ones
. Y oo . . . . 'P . .
4. RL{leS Of lelSlblllty' Which of the numbers are also divisible by 47 How can you tell? a number is divisible bl_.j 4/8 dlgltS
5.  Primes to 100. *  What two other numbers must a number be divisible by if halving
6. Square and cube numbers. |, i <ims to decide which numbers are divisible by 3 the number is divisible by 6/12? even
7. Multiply up to a .4-.d'l9'lt and which are also divisible by 9 *  How can you tell if a 2-digit number is divisible by 11? divisible
number by a 2-digit 8 B 5,460 *  Which divisibility rules are based on the sum of the digits sum
number. of a number? factors
8. Solve problems with 12307 e S R T 2-digit
.. . ti t ete the t .
multlpllcatlon, e TIC and Crosses UEDF'I'IFI' (=] 2 tabie Same
qQ. Short division. Is the number divisible by ...?
10 Division U.Siﬂg _]c(lCtOI"S Find a number that matches each description. 3 4 [ o 11
11. Introduction to long a 3-digit number that is divisible by 5 &7
L 9
lelSlOYT. . . a &-digit number that is divisible by 10 00
12. Long division with
. 216
remainders. a 4-digit number that is divisible by 5 and 3
. 702
13. Solve problems with
division a 5-digit number that is divisible by 3 but net divisible by 5
14. Solve multi-step problems. Stem Sentences:
15. Order of operations. ScattIs packing cakes Wito boss. * Ifa numt?e.r .lS divisible by and , then the number must
16 Mental calculatlons and He puts an equal number of cakes into " O.lSO be lelSlble by —_—
estimation. each box with no cakes left aver. * If the sum of the digits is divisible by , then the number is
17. Reason from known facts. He has 1,032 cakes to pack. ' divisible by .

How many cakes can go in each box? * A number is divisible by if its ones digit is .



YEAR 6

Key

Vocabulary:
Small Ste_pS: Which of these numbers are prime and which are composite? Keu Q u,esti,o ns.: prime numbers

1. Add and subtract integers. *  What is a prime number? composite numbers
2. Common factors. 30 131) (32|33 |34 ¢ What is a composite number? factors
3. Common multiples. * How many factors does a prime number have? prime factors
4. Rules of divisibility. 35| (36! 137|138 |39 *  Whyis 1 not a prime number? square numbers
5. Primes to 100. *  How can you find the prime factors of a number? cube numbers
6. Square and cube numbers. *  Are the multiples of prime numbers also prime?
7. Multlply up toa 4—di9it Write the numbers in the sorting diogram.

number by a 2-dl9lt w13 2 12 1M 6 7 Ren is thinking of a number. @ Shade the multiples of 6 ona {'—E

hundred square,

number. prime numbers even numbers I o thinking Whaot do you notice about all the

8. SO[VQ prOblemS with of @ number numbers either side of the multiples
. 1. . greater than 10 of 67

multiplication.
Q. Short division. 3
10. Division using factors. = I think that
11. Introduction to long there is al:ws::d

. e . Use the clues to work out prime nurm ':Er n
d.lVlSlon.. Ror's number. toa mL:hple
: of

12. Lon.g division with It is o composite number. v

remainders. Find the prime factors of the numbers. It has two prime factors.
13 SOlVQ PrOblemS with Itis on edd number, )

. e . Is Whitney correct? .

d'lVlSlon' 30 33 39 42 43 49 5“ Itis o factor of 60 Explain your reasoning. \\
14. Solve multi-step problems.
15. Order of operations. Stem Sentences:
16. Mental calculations and *  The factors of and . The prime factors of are

estimation. Write the three prime numbers that multiply to make 105 ° is prime because it has exactlg f(lCtOI"S.

17. Reason from known facts. x x =105 . is a composite number because = X




YEAR 6

Key
Small S Vocabulary:
ma te S: The table shows some square numbers and cube numbers, . . iy
'p R Complete the table and describe any patterns and connections Keg Q u-eStlo ns. Square numbers
;. Add and subtract integers.  you notice. The first row has been done for you. - How do you square a number? cube numbers
3 gommon factf_rsl' | 1 1 v Jixaxa| 1 * How do you cube a number? notation
4' Rorlmondmg'tlﬁ‘:s. 8 * Are the squares of even/odd numbers even or odd? area
. Rules of divisibility. 3%3 3 27 * Are the cubes of even/odd numbers even or odd? volume
5. Primes to 100. 4x4 dxax4 2 formula
- ¢ Can a number be both a square number and a cube number:
6. Square and cube numbers. 23 - : factors
. o P * How can you use a square number to help find a cube
7. Multiply up to a 4-digit 5 odd
o number?
number by a 2-d.l9lt - SqL:urenr;u.mI?rlef even
anly end in 1, .
number. 5, 6 or 9, but cube multiple
. b d i .
8' SOlV? p.rob.lems with Write =, < or = to make the stotements correct. numﬂﬁ;sncuﬁb'z: " prlme
multiplication. multiply
L - 4
9. Short division. @ A-3

10. Division using factors.

11. Introduction to long @ s 0 cube number.

BZ

elele

division. . . A\ is a prime number.
12. Long division with Find pairs of values for @ and A

remamders' Here are some number cards.
13. Solve problems with

division 1//4|/8/|9| 16

i . Do you agree with Tiny?

14. Solve multi-step problems.
15. Order of operations. 27| 137| |49| |64 Stem Sentences:
1é. Me.ntal.calculations and Which numbers are square? * To square a number, you multiply the number by .

estimation. Which numbers are cube? * To cube a number, you multiply the number by and then
17. Reason _]crom known _fQCtS. Which numbers are both square and cube? b9 aga'm.

Which numbers are prime? * Tknow is a square /cube number because...
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10.
11.

12.
13.
14.
15.
16.

17.

Small Steps:

Add and subtract integers.

Common factors.
Common multiples.
Rules of divisibility.
Primes to 100.

Square and cube numbers.

Multiply up to a 4-digit
number by a 2-digit
number.

Solve problems with
multiplication.

Short division.

Division using factors.

Work out the multiplications.

Introduction to long
division.

4267 30406
e 34 ® 73
2,465 people buy tickets for o festival. ."I ““““““ ;
Each ticket costs £48 '_F'_hf""'"ﬂ[]‘w-.-‘i'i.
How much is spent altogether on the tickets? | r " "‘1
gl T't"v“d_z
Work out the multiplications.
78 %10 63 = 100 56 = 1,000
Use your answers to work out these multiplications.
TEx9 B3 x99 56 x 999

Long division with

remainders.
Solve problems with
division.

Solve multi-step problems.

Order of operations.
Mental calculations and
estimation.

Reason from known facts.

Complete the calculations to work out 724 = 18

Find a different way to work out 724 = 18

YEAR 6

Key
) Vocabulary:

Ke"_l Questions: long multipllcatl:)n
How do you set out a long multiplication? multiply
Which number do you multiply first? 4-digits
What is important to remember when you begin to multiply by 2-digits
the tens digit? commutative
When do you need to make an exchange? How do you do this? multi-step
What happens if there is an exchange needed in the last step of tens
the calculation? exchange
What is the quickest way of multiplying whole numbers by zero
10/100/10007? placeholder
What number is 99 close to? How does this help you to multiply calculation

by 997
If you double a number and then double it again, what is the

column method
powers of 10

overall effect on the original number? adjust
What factor pairs have a product of ___? How does this help subtract
you to multiply by ___? Which factor pair is easiest to use? product
factors
alternative

Stem Sentences:
To multiply by a 2-digit number, first multiply by the ___|
then multiply by the __ and then find the ____.
Multiplying by ____is the same as multiplying by ____ and
then multiplying the answer by ____.

times-table
whole number
double

factor pair

To multiply by , I can multiply by and
add/subtract to/from the product.
= X , so to multiply by I can multiply

by and then multiply the product by .



YEAR 6

Key
Vocabulary:
Small Steps: Complete the short divisions. Key Questions: short division
1. Add and subtract integers. * How many groups of 4 ___ are there in 40/400/4000? divide
2. Common factors. 3[ee | 3[eaz | | 3T C How many groups of 4 ___ are there in 80/800/8000? 4-digit
3. Common multiples. EEEEEEEEEEERE |+ What do you do with any remaining ones at the end of a single-digit
4. RL{[ES O'f diViSlbility' Here is 8,524 = 4 shown using ploce value counters and diVlSiOI’l? . l.OI’Ig diVlSlOﬂ
5. Primes to 100. <hort division. * If you cannot make a group in a column, what do you integer
6. Square and cube numbers. o do? remainder
7. Multiply up to a 4-digit (=T *  What does the remainder mean in this questions? multiples
number by a 2-digit ~|@QIQOK O® *  What does the word factor mean? times-table
number. oo ERAREIE *  What are the factors of the number you are dividing by? groups of
8. Solve problems with laf8]s2[4] | *  What numbers did you find it easy to divide by? column
multiplication. * How can you check your answer? thousands
9. Short division. *  Which factor are you going to divide by first/second? equal to
:Il (1) :I[)lVlSld(?n l:lSlng f(llCtOFS. 1,480 pencils are grouped into pockets of 5 ﬁ Why? eXChanged
: dn'tro uction to Ong How many groups of 5 pencils are there? | —— Stem sentences: hundreds
i LMSlOC?' N " . thousands divided by is equal to thousands tens
- Long division wit o | with a remainder of . The remainder is exchanged into factors
remainders. Esther is working out 840 + 4 hundreds multiplication
13. Solve problems with She knows 840 + 2 = 420 . L : ; d divisi
s . hundreds divided by is equal to hundreds with dépeated division
" Slvllswn. " ol remainder of . The remainder is exchanged into tens. halve
15' O(?rcreer rz;(:;zsg;z ems. * Dividing by 4 is the same as dividing by and again.
1 .
' e * The factor pairs of are .
16. z/lste’rrlrt;’lc.zcrlllculatlons and * To divide by , I can first divide by and then divide the
imation.
How can Esther use this foct to help find 840 = 42 answer bg —_—
17. Reason from known facts. . = X , 50 to divide by I can divide by

and then divide the answer by .
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10.
11.

12.
13.
14.
15.
16.

17.

Small Steps:

Add and subtract integers.

Common factors.
Common multiples.
Rules of divisibility.
Primes to 100.

Square and cube numbers.

Multiply up to a 4-digit
number by a 2-digit
number.

Solve problems with
multiplication.

Short division.

Division using factors.
Introduction to long
division.

Long division with
remainders.

Solve problems with
division.

Solve multi-step problems.
Order of operations.
Mental calculations and
estimation.

Reason from known facts.

Here is 360 + 12 using the long division method.
HERER Multiples of 12: 12 1= 12

12&% - 12%2=24 Why do we subtract as we go along?
360 | (12x30 12%3236 What does the arrow represent in the long division?
. ;i | d2xq 12x4=48 Can this division be done using factors instead? Why or why not?
o | 12x5=60 What is the first step when performing a long division?
12%6=72 Why do we subtract as we go along?
Fipuses e o help diide 372y 15 In a long division, what happens are the subtraction if you cannot
_ | [ ] Multiples of 15: 15 x 1= 15 divide exactly?
024/rn S What is the first step when performing a long division?
EEUE What is the most useful wa ioni h ber?
TTolo (15520 T y of portioning the number?
2] | [] 15x4=60 Would you use short division or long division? Why?
% (13%4) If you double a number and then double it again, what is the
T T T T overall effect on the original number?
What factor pairs have a product of ___ ? How does this help you
to divide by ___? Which factor pair is easiest to use?
861 + 41 Stem Sentences:
* __ hundreds divided by ____is equal to ____ hundreds with a remainder of ____.
e The remainder is exchanged into ___ tens.
* __ tensdividedby ___ isequalto___ with a remainder of __ . The remainder
is exchanged into _____ ones.
* ___ cannot be divided by ____, so thereis a of )
@ . * T will partition the number into and because both and are

Key Questions:
How can you use multiples to divide by a 2-digit number?

divisible by )
X , so to divide by I can divide by and then divide the

quotient by )

YEAR 6

Key

Vocabulary:

long division
dividing
2-digit
single-digit
3-digit
remainders

expanded method

multiples

formal long division

4-digit

composite numbers

factors
subtract
exchanged
integer
full
total
less than
estimation
subtract
strategy
solution
partitioning
double
quotient
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10.
11.

12.
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14.
15.
16.

17.

Small Steps:

Add and subtract integers.

Common factors.
Common multiples.
Rules of divisibility.
Primes to 100.

Square and cube numbers.

Multiply up to a 4-digit
number by a 2-digit
number.

Solve problems with
multiplication.

Short division.

Division using factors.
Introduction to long
division.

Long division with
remainders.

Solve problems with
division.

Solve multi-step problems.
Order of operations.
Mental calculations and
estimation.

Reason from known facts.

The total mass of apples in a box is 25 kg.
The total mass of oranges in o box is 24 kg.

There are 32 boxes of apples and 25 boxes
of oranges in a supermarket.

What is the total mass of apples and oranges?

A customer orders 300 kg of apples and 600 kg of oraonges.

How many boxes of fruit will the customer receive?

At o parade, there are 25 rows of people
with & people in each row.

Each persen holds 2 flags.

How many flogs are needed for the parade?

The area of a rectangular tile is 40 cm?

The width of the tile is 5 cm.
Scm “ -
40 cm?

A strip of tiles is mode by loying tiles end-to-end.

EEmI

How long is a strip with 15 tiles?

How many tiles are needed to make a strip 280 cm long?

How many tiles are needed to make a strip 4 m long?

Key Questions:
What can you work out first?
Is this step an addition, a subtraction, a
multiplication or a division? How can you tell?
Could you draw a diagram to represent the problem?
Can you work out the answer to this part of the
problem mentally or do you need another method?
What can you do next?

Five boxes of toy trains cost £120
Each box contains & troins.

How much does each train cost?

A sheet of stamps has 24 rows
and 18 columns of stamps.

How maony stamps are there

altogether on 35 sheets? 24

stamps

Stem Sentences:
First, I need to work out .
The calculation I need to do it
Next, I need to work out __
The calculation I need to do it .

YEAR 6

Key

Vocabulary:

problems
real-life context
calculation
operations
order
informal/formal
number line
add
subtract
multiply
divide
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Small Steps:

Add and subtract integers.

Common factors.
Common multiples.
Rules of divisibility.
Primes to 100.

Square and cube numbers.

Multiply up to a 4-digit
number by a 2-digit
number.

Solve problems with
multiplication.

Short division.

Division using factors.
Introduction to long
division.

Long division with
remainders.

Solve problems with
division.

Solve multi-step problems.
Order of operations.
Mental calculations and
estimation.

Reason from known facts.

Match the counters to the calculations.

HHH

15

3+4x2 Ixa+2 (3+d)x2

Dani hos 7 baogs with 5 sweets in each bag.
She adds one more sweet to each bag.

Which calculotion shows how many sweets there are in total?

Tx(5+1)

=541

Key Questions:
Does it make a difference if you perform the operations in a
different order?
What do brackets in a calculation mean? What would happen if
you did not use the brackets?
Which operation has greater priority, addition or multiplication?
How many pairs of operations do you know that have equal
priority?
How do you find the square of a number?

Here are some number cards.

L

100| 75 50 25

Pick one large number from the top row.
Pick five smaller numbers from the bottom row.

Use o calculator or computer to generate a 3-digit
target number.

Use your numbers, the four operations and brackets to find
o number as close as possible to the target number.

Stem Sentences:
. has greater priority than , 5O the first part of the
calculation I need to do it .

YEAR 6

Key

Vocabulary:

order
priority
operations
calculation
brackets
multiplication
division
equal
additions
subtractions
difference
square number
greater
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Small Steps:

Add and subtract integers.

Common factors.
Common multiples.
Rules of divisibility.
Primes to 100.

Square and cube numbers.

Multiply up to a 4-digit
number by a 2-digit
number.

Solve problems with
multiplication.

Short division.

Division using factors.
Introduction to long
division.

Long division with
remainders.

Solve problems with
division.

Solve multi-step problems.
Order of operations.
Mental calculations and
estimation.

Reason from known facts.

Use rounding to estimate the answer to each colculation.

6,941 + 4,009

6,941 - 4,099

6,941 x 18

6,941 = 11

Compare answers with o partner,

What strategies would you use to find the exoct answers to

the calculations?

480 + 20 480 - 20

480 % 20

480 + 20

Compare answers with o partner,

How could you change the order of the numbers in each of the
calculations to make them easier to do mentally?

97+ 58+ 43

68+ 57 -28

12x9x5

S50x 16x 2

4x17 =25

Work out the answers to the colculations.

PG

How can he quickly check whether he has encugh money?

Mo wants to buy a T-shirt for £9.99,
a pair of socks for £2.49
and a cap for £8.99

He has £22 in his wallet.

Key Questions:
Should you round the number to the nearest
10/100/1,000? Why?
Are any of the number multiples of powers of 10? How
does this help you to add/subtract/multiply/divide the
numbers?
What number is (for example) 99 close to? How does
this help you with the calculation? What adjustment do
you need to make?
How would portioning/reordering the number(s) help?
Why are estimates of the answers of calculations useful?

25

Approximately how much further does he have to drive?

Itis 816 km from Mr Trent's house to Glasgow.

He drives 583 km of the way.

A textbook costs £19.99

Approximaotely how many textbooks can be bought for £3007

Stem Sentences:
The previous multiple of is
The next multiple of is

rounded to the nearest is

YEAR 6

Key

Vocabulary:

mental strategies
estimation
calculation
rounding
simplifying
nearest
multiples
powers of 10
add
subtract
multiply
divide
close to
adjustment
partitioning
reordering
previous
next
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Small Steps:

Add and subtract integers.

Common factors.
Common multiples.
Rules of divisibility.
Primes to 100.

Square and cube numbers.

Multiply up to a 4-digit
number by a 2-digit
number.

Solve problems with
multiplication.

Short division.

Division using factors.
Introduction to long
division.

Long division with
remainders.

Solve problems with
division.

Solve multi-step problems.
Order of operations.
Mental calculations and
estimation.

Reason from known facts.

» Write four facts shown by each bar model.

503

168 335 ar

the calculations.

+ Use the fact thot 327 + 482 = 809 to work out the answers to

3,270 + 4,820 327 + 492

325 + 482 482 + 327

809 - 327 809 — 328

48,200 + 33,700

the calculations.

+ Use the fact that 11,832 + 20 = 408 to work out the answers to

11,832 + 408 408 = 290 4,080 = 290
118,320 + 408 11,832 + 290
72 1
46 3312 A6
1 72

YEAR 6

Key
Vocabulary:
facts
place value
inverse operations

Key Questions:
What is an inverse operation?
How can you use an inverse operation to find

related facts? commutativity
What is the same and what is different about the mental strategies
numbers in the given calculation and the numbers in area model
the calculation you want to work out? number line
How will the answer change if you links
increase/decrease/multiply/divide one/both of the calculations
numbers by __ ? multiplying
dividing
Complete the spider dingram.
powers of 10
. doubling
e halving
connections
e e integers
decimal
same
e different
—r—T increase
decrease

Stem Sentences:
If I add/subtract ____ to/from one of the numbers in the
calculation, then the answer will change by .
If I multiply/divide one of the numbers in the
calculation by ____, then the answer will change by .
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Key
Vocabulary:
Small Ste_pS: +  Jack uses multiplication to find equivalent fractions. Kell QueStions: equlvalent -
1. Equivalent fractions and *  What are the common factors of __ and ? simplest form
simplifying. *  Why is it better to identify the greatest possible number that both common factors
2. Equivalent fractions on a the numerator and denominator can be divided by? simplify
number line. * Does the simplified fraction have the same value? numerator
3. Compare and order Use Jack's method to complete the equivalent fractions. * Do the numerator and denominator have any more common denominator
(denominator). a0 a0 O.s a0 factors? greater
4.  Compare and order > > 0 T "« How can you tell if a fraction is in its simplest form? divide
(numerator). » Use division to write the fmctionsintheirsimplestform *  When Slmpll_fylng a mixed number, Why does the lnteger not fraction wall
5. Add and subtract simple 12_4 12_ 16_2 change? value
fractions. =0 . “ D * How many intervals are there on a number line? What is each mixed number
6. Add and subtract any two %% %=% %:% interval worth? integer
fractions. *  What equivalent fractions have you found? number line
7. Add mixed numbers. _  Is this fraction in its simplest form? How do you know? forwards
8. Subtract mixed numbers. CDTE 'mihle rumeerine * Can you divide the number line into more intervals to place the backwards
9. Multi-step problems. , N o fractions more accurately? intervals
: i % ] 1'% T« How will you place one sixteenth on a number like that is counting difference

in eighths?

o s smolfuing 2.4 *  Which fraction was the easiest/hardest to label? Why?
o is simplifying ZE

Count in fifteenths on this number line and then write the

54 52 fractions in their simplest form. Stem sentences:
* Both the numerator and the denominator can be divided by
bbbt L) ¢ To simplify the fraction, I will divide the numerator and denominator by __
1. in its simplest from is

0 .
16 . : :
5—
0 What pattems can you see? ¢ From my number line, T can see that is equivalent to

*  When I count in eighths, I can change into because they are equivalent.

A4
To simplify 2 0

keep the whale number
the same and simplify
the fraction.

Use Mo's method to simplify the mixed numbers, o
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Key
) Vocabulary:
Smau‘ Steps: The bar models shnw% und% Ke"-l Questtons: compare
1. Equivalent fractions and * How could you use a number line or bar model to help you order
simplifying. compare the fractions? denominator
2. Equivalent fractions on a * If the denominators are the same? How do you compare the equivalent
number line. - fractions? common denominator
3. Compare and order Which fraction is greater? How do you know? * Is one denominator a multiple of the other? bar model
(denominator). * If one denominator is not a multiple of the other, what do multiple
4.  Compare and order Write <, > or = to compare the fractions. you need to do to be able to compare the fractions? common multiple
(numerator). * How is comparing mixed numbers different from comparing number line

5. Add and subtract simple - L 11 | _:[:J proper fractions? How is it similar? same
fractions. - _: * How can you compare the fractions shown in the bar model? different

6. Add and subtract any two 1 O 1 3 O 3 * Do you need to change one or both numerators? Why? mixed numbers
fractions. 5 4 5 4 * If this fraction closer to O or 1? proper fractions
7.  Add mixed numbers.  Is this fraction greater or less than %2? similar
8. Subtract mixed numbers. i is comparing 2 and & using a common numerator. Is it more efficient to find a common numerator or a common numerator
9. Multi-step problems. denominator? unit fractions
s 2.6 b6 2.6 non-unit fractions
Use the bar models to compare 3-and £ 5 13 15 13 53 stem Sentences: greater
T T * T am comparing and . I can use as the common smaller
3 O 2 denominator. reater than
[T T T 1] TN S erectons e o | | g
Write the fractions in descending order, * If one denominator is not a multiple of the other, I need to find less than
BRENERE a
Write <, > or = to compare the fractions, *  When the numerators are the same, the the denominator,
4 O 4 3 O 3 Write the fractions in ascending order, the o the fraction.
! : 10 1 E E ¢ Tknow is greater than %2 because..

[ know is closer to 1 than because ...
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' Use the bar model to help add the fractions.

Small Steps:

Equivalent fractions and | | I | 4 s

Key Questions:

* Do the fractions have the same denominator?

1,5
simplifying. LRI T TIIII *0 ™ *  When are two fractions equivalent?
Equivalent fractions on a Work out the additions. * How can you find a common denominator?
number line. 1+l 1+L 2.L * How many of the fractions do you need to
Compare and order convert?

p . ¢ Use the bar model to work out the subtraction. .
(denominator). — — — S * Now the denominators are the same, how do you
Compare and order Pl 39 add/subtract the fractions?
(numerator). wnzrk U;me S“mmmmf X . * Do the fractions have the same denominator?
Add and subtract simple 379 379 379 ¢ What is the first common multiple of and
fractions. Complete the part-whole models. * How many of the fractions do you need to
Add and subtract any two o . e convert?
fractions. * How do you know if your answer is in its simplest
Add mixed numbers. form?
Subtract mixed numbers. e . e e . e * Do you need to convert your answer to a mixed

Multi-step problems.
Write =, = or = to complete the statements.

1,1 4_1 a_1
3’5 5 3 3 5

The jumps on the number line
are equal.

| &
=

O

Fill in the boxes to make the

What is the missing value on the )
calculation correct.

number line?

number? Why or why not?

Stem Sentences:
Fractions must have the same
The denominator has been multiplied by ____|
multiply the numerator by
When fractions have the same ___
The lowest common multiple of

and is

To add/subtract the fractions, I could convert them both to
to add or subtract them you just ___

When fractions have the same ,

?

, to add or subtract them I just

YEAR 6

Key

Vocabulary:

adding
subtracting
denominator
numerators
equivalent
multiple
bar model
common multiple
improper
mixed number

common denominator

convert
multiply
calculation
greater
simplify
LCM

lowest common multiple

before they can be added or subtracted.
so to make the equivalent fraction,

the

the
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Key
) Vocabulary:
Small Ste.ps° Aisha uses a bar model to help work out 1%4-215 =3% Kelll Q uestions: mixed numbers
1. Equivalent fractions and _ | | | | | | * How can you partition the mixed numbers? additions
simplifying. * How can the addition/subtraction be rewritten to
ptyying wholes
2. Equivalent fractions on a - make it easier? fractional parts
number line. | | | | | | * In this question, it is easier to deal with wholes and ici
q ) efficient
3. Compare and order ractions or to use improper fractions? Why? i
P prop Y converting
(denominator). Rosie and Amir are working out 11+ 21 * How do you convert a mixed number into an improper
4.  Compare and order Rosie Amir improper fraction? denominator
(numerator). 1+2=3 * Are there any improper fractions in the answer?
\lyolo 3,13 y tmprop numerators
5. Add and subtract simple 1+1.3,1.4 2o §+£ *  What can you do about this? partition
ractions. B
f 3 +% = 3% = 3% =22 _ 34 _ 32 What method would you use to work out the subtractions? greater than
6. Add and subtract any two & "6 "3 o e e subtract
fract'lons. Whose method do you prefer? 8 B 8 8 8 same
i Explain your answer, Compare methods with a partner, H
7. Add mixed numbers. different
8 S b . d b Howw is this similar to addition? How is it different?
. ubtract mixed numbers. exchange
Q. Mult't—step problems. Tom uses bar models to help work out 2%— 1% Stem SentenceS: number line
, TTTT 7T 1] * Mixed numbers can be partitioned into a ___ part and a  bar model
The numbers in the row and 3 i 5 5
column add up to make the | gy -lg=lrg=iy part. equal-
totals shown. LililiAg ] * A fraction is improper when the is greater than the
1 ol 1 |57
. is made up of wholes and .

1 Complete the part-whole models. K i i X
o This calculation will/will not cross the whole because..

21 @ @ . A fraction is equal to one whole when the is equal to
12
the
=5l
O O© O® &

Find the missing values,

—

The mixed number can be partitioned into and
can be written as wholes and :
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Small Steps:

Equivalent fractions and
simplifying.

Equivalent fractions on a
number line.

Compare and order
(denominator).

Compare and order
(numerator).

Add and subtract simple
fractions.

Add and subtract any two
fractions.

Add mixed numbers.
Subtract mixed numbers.
Multi-step problems.

Find the value Gf‘i}

'+3%
W=
10

1
63

Children in Class & were asked how they travel to school.

The results of the survey are shown in the pie chart.

bicycle

car

bus

What fraction of children do not get the bus to school?

Here is o vegetable patch.

%ufthe patch is for carrots

and % of the patch is for cabboges.

What froction of the potch is
for potatoes?

How much more of the patch is for
the potatoes than for the cabboges?

Give all your answers in their simplest form.

What is the walue of A?

1 23
+‘|“ 5
I'| I |
3= A
2

Key Questions:

YEAR 6

Key

Vocabulary:

¢ What can you work out first?
*  What do you need to know to work out the

answer?

* Can you draw a diagram to represent the problem?
* Can you work out the answer to this part of the

problem mentally or do you need another method?
¢ What can you do next?

Annie and Mo are geing on a trip. @

&

r . y
Annie |
& .

My suitcase hos
a mass of 29% k.

My sulfcase
is 2% kg lighter
than Annie's.

Mo

What is the total mass of the suitcases?

There is a weight allowance of 32 kg
pPer suitcase.

How much below the weight allowance
are Annie and Ma's suitcases?

solving problems
real-life context
calculation
operations
order
perform
method
simplest form
convert
improper
mixed numbers
mentally
add
subtract

o
Complete the colculation. Q

234313 53 575

12 °20 "4 o0

How can you make this @
caleulation simpler?

Stem Sentences:
e First, [ need to work out..
* The calculation I need to do is..
* Next, I need to work out..




YEAR 6

Key
) Vocabulary:
Small Steps: i+ Use the diograms to weork out the multiplications. Kel-l QueStlons: multlp[ying
1. Multiply fractions by * How is multiplying fractions by integers similar to integers
integers. addition of fractions? How is it different? repeated addition
2. Multiply fractions by *  What happens to the denominator when you multiply a adding
fractions. fraction by an integer? subtracting
3. Divide a fraction by an * Do you find it easier to partition the mixed number first denominator
integer. or to convert it to an improper J‘ractlon? numerator
4. Divide any fraction by an | b+ | ¢ Is2/3x7 equalto 7 x2/3? Why? mixed numbers
integer. 0 ! 2 3 partition
5. Mixed questions with Tiny is working out 4 = 32 @ convert
fractl.ons. Eva partitions E%tu help her work out 2% w3 lmproper
6. Fraction of an amount. similar
/. Fraction of an amount — | || || | 2=3=¢6 The answer different
find the whole. | | | || | 3,.,_9_.4 sl equal to
LT IEE T TIEEET 1] 5 5 5
4_ .4
G+ 5= ?5

Is Tiny correct?

There are 12 children in a class. '@ Exolai . '8
Huan works out 4 % 1 Xplain your reasoning. @
B The teacher has 4 litres of orange juice.

4xL-28_34
8 8 "8
Stem Sentences:
How can you improve Huan's answer? E E * To multiply a fraction by an integer, I need to multiply the numerator by

* To multiply a mixed number by an integer, I can partition it into and
Each child gEElE litre of orange juice. and then multiply them both by the integer.
How much orange juice will be left over? * To multiply a mixed number by an integer, I can convert the mixed

number to an and then...



~

Small Steps:
Multiply fractions by
integers.

Multiply fractions by
fractions.

Divide a fraction by an
integer.

Divide any fraction by an
integer.

Mixed questions with
fractions.

Fraction of an amount.

Fraction of an amount —
find the whole.

Work out the missing numbers.

m|_|-
-

=

o=

e |
b

L | L
1]

]

]
| e
nw
L | L

([

Alex is using a piece of paper to work out % ® %
First, she folds the piece of paper in half.
Then she folds the half into thirds.,

Alex shodes the fraction that she has created.

1 have shaded %

i.1_1
72*3 %

Use slex's method to work out the multiplications.

*

=

L | =
&)=

. L.
2 4

Py

Dani is using o diogram to work out % x%

4
5 15

Explain why the diagram shows % ®
Use similar diagrams to work {:m%x%und%x

—,

P
Find the missing numbers. @

Is there more than one answer? @

3
5

YEAR 6

Key

) Vocabulary:
Key Questions: multiply
How can you show the calculation as a diagram? numerators
What is the same and what is different about “half of” a denominators
number “1/2 x” a number? simplest form
When you multiply two fractions, is the product greater calculations
than or smaller than each of the fractions? Why? same
Why are all of your answers less than 1? different
half
product
. Aisho uses this diogram to work out the reater
What is the area of the Q product of twe fractions. 9
shaded region? _: less than
equal
What fractions has Aisha multiplied?
What is the answer?
Stem Sentences:
To show , I have split my diagram into equal sections.
To find the product, I need to..
When multiplying a pair of fractions, I need to multiply the and

multiply the .




N

Small Steps:
Multiply fractions by
integers.

Multiply fractions by
fractions.

Divide a fraction by an

’mteger.

Divide any fraction by an

integer.

Mixed questions with
fractions.

Fraction of an amount.

Fraction of an amount —

find the whole.

Is the statement true or false?

Filip hos % of o chocolate bar.
He shares it with his friend.

What fraction of the chocolaote bar do they each get?

Use the diograms to help you work out the divisions.

3 S
— ===
4 5

5

Teddy divides one third inte 2 equal parts.

Explain your answer.

Find the missing fractions
and integers.

36
3 =3
20 8

Each part is worth 1

Drow diograms to work out the divisions.

Work out the missing numbers.
-3, 4.0
4+ 00U

11
|

OO

oo

LA |w

Key Questions:

How could you represent the fraction?

How could you split the fraction into ___ equal parts?
What do you notice about the numerators in the question
and the answer?

What do you notice about the denominators in the
question and the answer?

What changes and what stays the same?

How can you show the division as a bar model?

What is each part of the fraction worth?

How is 1/3 + 2 similar to 1/3 x 1/2?

What fractions are equivalent to____?

Why does finding an equivalent fraction help you to divide
a fraction by an integer?

What multiplication can you use to work out ____ +

_

Stem Sentences:
If you divide _____into equal groups, then each group is
_____because = = )
__ onesdivided by isequalto____ ones, so
____eighths divided by is equal to eighths.
The bar is split into _____ equal parts.
I am dividing each by , 50 I must split each part
into ___ equal parts.
____is equivalent to , SO + isequalto

YEAR 6

Key

Vocabulary:

dividing
Integers
numerator
multiple
bar model
number sentence
representation
denominator
same
shared
equal
split
changes
division
groups
equivalent
multiplying
unit fraction
pattern




YEAR 6

Key

Vocabulary:
Small Ste_pS: Match the bar models to the correct problems, Kel..,l Questi,o ns: _]COUI’ operatlong
1. Multiply fractions by _ ) * Do you need to find the whole or a part? Where can you bar model
integers. Mnfls“ﬂ“f”bh“"i ' show this on the bar model? word problems
. . ng.TnmmisEufF. 3 |3 [3 |3 . Wh lculati d d do? H .
2. Multiply fractions by O, smlgmlzmlzm at type of calculation do you need to do? How can you multi-step
fractions. tell? add
3. Divide a fraction by an A * Does it matter in which order you perform the calculations? subtract
integer oL sk st M Why/why not? ltipl
ln. 9 ’ . Each piece isgmlung. i 9 Y A . mu tlp y
4. Divide any fraction by an How much ribbon doss ) %m *  Which operation should you perform first/second? divide
integer. Nijah have altogether? *  What happens when you insert brackets into the whole
5. Mixed questions with calculation?
part
. : ibbon i 3
fractl‘o ns. ;,: EE:;:::;T“: it EIm calculation
6. Fraction of an amount. 5 into 4 equal parts, —— ) 23| |4 order
/. Fraction of an amount — How long is each part? perform
find the whole. brackets

Work out the answer to each problemn.
Using each digit once only, find as

many solutions to the colculation thot

Square A and rectangle B have the same area. \
are between 1 and 2 as you can.

Find the difference between their perimeters.

1
2 m 2m
— 4 v
' - Find the difference between % = 3 and % +3 1
—t A —
[ — + x
Add two sets of brackets to make the
calculation correct, Find the total length of the bar. I, Stem sentences:
1 1 1 1 Is there more than one way to : * In this calculation, first I need to do and then...
E+E x 8 +E:_ 2+1= EE find the answer? 212(2| 1 «  To solve the problem, I need to find the of the two fractions.




YEAR 6

Key
) Vocabulary:
Small Steps: Key Questions: bar model
1. Multiply fractions by Use the bar model to find the E“”g numbers. *  How do multiplication and division help us when finding unit/non-unit fraction
integers. , I \ fractions of an amount? amount
2. Multiply fractions by R RE *  What does dividing the whole amount by the denominator denominator
i ?
fractions. 1ot 160= 5 of 160 o160 60 work out? parts
3. Divide a fraction by an 8 8 * How are the parts and wholes represented in a fraction? whole
integer. *  What bar model could you draw to represent the divided
4. Divide any J‘ractlon by an Work out the fractions of the amounts. calculation? numerator
integer. [ [ [ * What is the difference between a unit fraction and a non- multiply
5. Mixed questions with . - = unit fraction? difference
fractions. ; ; 1 * How many equal parts are there altogether? equal to
6. Fraction of an amount. 7g °f£20 gordom 10°f09 *  How many equal parts do you know the value of? greater than
/. Fraction of an amount — *  What is the value of each equal part? less than
ﬁnd the whole. Complete the calculations. *  How can you ﬁnd the whole? times-tables JcClCtS
Tof20- Lo -0 *  Should thg whole be greater than or less than the value altogether
» i you are given? Why? value
| ]
) ¢ ) Stem Sentences:
Fill in the missing numbers. * The whole is divided into equal parts. Each part is worth .
. ! 0 *  The numerator is , so the fraction is worth .
| * If one fifth is equal to then ifths are equal to :
5 of £300 = £250 J J(.Jc > %4 ’ iy : 1
" - * If one-sixth is equal to , then the whole is equal to .
ork out the missing wholes.
* If five-sixths is equal to , then one-sixth is equal to and the whole is equal
D ) I . T to .
4209="750f 720g * The whole is split into equal parts.
— * To find one part, I need to divide by . To find the whole, I need to multiply by

45 48



YEAR 6

Key
_ _ Vocabulary:
Small Ste-ps: Sort the units of measurement into the table., Keq Questions: metric measures
1. Metric measures EI |I| mm | | tonnes E E E B *  Which units could you use to measure length, mass, capacity? length
2. Convert metric *  Which is the most appropriate unit to measure the of a ? mass
measures _ . Length Mass Capacity Whg? capacltg
3. Calculate with metric *  Why do you think ____is not an appropriate estimate? tonnes
measures. *  Why would you not use kilometres to measure the length of the difference between
4. Miles Fmd Rilometres. classroom? What would you use? volume
5. Imperial measures. Write <, > or = to compare the measurements. *  What is the difference between capacity and volume? estimation
mﬂmlOﬁ.H mmowm *  What is the same and what is different about kilometres? units
Choose the most appropriate urit for each measurement *  What is the same and what is different about 1.5km and 1.500 km? measurement
the length of a table . Ozsm L L0 O1 1 *  What do you notice about the conversions from metres to kilometres imperial units
(o | [ g | [ | [om | - o 2" and grams to kilograms? weight
the mass of a cor 4020ml©4.2L 1_5kmO150m * Do you need to multiply of divide by 10/100/1000? How do you _ gravity
: » 1 -~ r Rnow? kRilometres/metres
E—— *  Which operation are you going to use? Why? ‘ MUlti/F)lU/ dlvid.e
o T Brett has o piece of ribbon measuring 1.75 m. . *  How could you use a bar m?del to help you understand the question? ~ converticonversions
He Is given a second piece of ribbon, * How many grams are there in one kilogram? centimetres
Now he has 26 cm of ribbon in total, * Does it matter if the items in the question are measured in different decimal plac.e value
How long Is the second piece of ribbon in centimetres? units? WhU? comparing
* How can you convert between metres and centimetres? inverse
There are 1,000 g in 1 kg and 1,000 kg in 1 tonne. placeholder
Use this fact to complete the tables. Stem sentences: kilograms/grams
3 kg g p— * The best unit to measurethe ___ of a__ would be ____ because.. operations
3,000 7,000 * Thereare ____ grams in one kilogram, so thereare ____ gramsin numerical
4 8 kilograms. fraction of an amount
2,500 9,500 * Thereare __ ina adding/subtracting

* To convert from to , multiply/divide by )




o &

Small Steps:

Metric measures
Convert metric

measures 10 miles = km 32km= miles
Calculate with metric ' ’ " i
— 15 miles = m 40km=_____ miles
Mil d kil tres.

es and kuometres 25 miles = km 64 km = miles

Imperial measures.

Fill in the missing numbers on the number line.

kilometres
1] 1.6 | f.4 i
| | | | | | | |
| 1 ! | 1
0 2.5 5
miles

Write <, > or = to compare the distances.

100 kmo 100 miles -dBI:mOEE miles
1.6 kmO 1 mile 0.5 milesO'l km

Use the fact 5 miles = 8 km to complete the conversions,

Key Questions:

Which is further, one mile or one kilometre?

What does the word “approximately” mean?

What does the symbol “=“ mean?

How can you use the key fact of 5 miles = 8km to
calculate how many kilometres are approximately equal
to 20 miles?

When might you need to convert between miles and
kilometres?

Stem Sentences:
miles are approximately equal to 8km.
10 miles are approximately equal to km.

YEAR 6

Key

Vocabulary:

imperial
metric
measures
miles
Rilometres
greater
distance
approximately
equal
conversions
further

Here are Tiny's workings to convert 5 miles to kilometres.

10 miles = 16 km

5 miiles = 11 km

Explain Tiny's mistake.




YEAR 6

Key

) Vocabulary:
Small Steps: Key Questions: imperial
;. E’I;rtll\r/l:r:l;c:stl:lrces Vinch=25 cm 1 stone = 14 p-DUI'IdS \rilvgi:l crlri;z::llr ;Ss: imperial measures instead of measures
. ! metric
measures 1font = 12 inches 1 gulk:n =4 |]iI'I|E Why is it easier to convert between metric conversions
3. Calculate with metric measures than between imperial measures? approximate
measures. 1 pound = 16 ounces Which is greater, one foot or one metre? exact
4. Miles and kilometres. *  Which is shorted, one centimetre or one inch? greater
5. Imperial measures. *  Which is heavier, one pound or one stone? shorter
heavier
inch = 2, foot = inches - E
tineh=25¢em 1 toi2ine Armir wants to make a cake, w equal

Use these key focts to complete the conversions.

Stem Sentences:

Here are some of the ingredients

2inches = cm 2 feet = inches he needs: . ) ) ) )
* As 1inch is approximately equal to cm, inches are approximately
—inches =7.5cm 5 feet = inches 8 ounces caster sugar
) ) equal to cm.
inches = 25cm 20 feet = inches & aunces flour . . ; :
, 100 foot = on * There are inches in 1 foot, so there are inches in feet.
12 inches = Cm eet = inches 6 ounces butter
Sort the units of measurement into the table,
This is what he has in his cupboards:
1 gallon = & pints 0.5 Ib caster sugar millilitre centimetre mile gram litre
Use this key foct to complete the conversions. 0.25 Ib flour
2 gallons = pints gallons = 40 pints 3 b butter stone inch metre millimetre tonne
&
10 gallons = pints —gallons = 104 pints ) . )
Does Amir hove enough ingredients to allon ounce und = kil
bake the cake? 9 po
B e Jamien - T If not, how much more does he need
Use these key facts to complete the conversions, to buy? Length Maoss Copacity
2 pounds = ounces 2 stones = I Metric
5 pounds = ounces 5 stones = b
— pounds = 240 ounces stones = 154 |b Imperial




Small Steps:

Place value within 1.

Place value —
integers and
decimals.

Round decimals.
Add and subtract
decimals.

Multiply by 10, 100
and 1,000.

Divide by 10, 100
and 1,000.

Multiply decimals by
integers.

Divide decimals by
integers.

Multiply and divide
decimals in context.

Use the dingrams to complete the sentences in as many ways

s pussiblf_'.ol ° °
00009 3938 [g3eee

is one-tenth the size of

is 10 times the size of

Scott has made a number on a place value chart.
Tth | Hth | Thth

Complete the sentences to describe Scott's number,

hundredths and

There are ones, tenths,
thousandths.

The number is

Use a place value chart and plain counters to represent
the numbers.

0.613 0.84 0402 0.051

Ron has partitioned 0.536

0536 =04+ 013 + 0006

Use a place value chart to partition 0.536 a different way.

Compare answers with a partner,

Key Questions:

What does each digit in a decimal number represent? How

do you know?

How many tenths/hundredths/thousandths are there in 1

whole?

How many thousandths are there in 1 hundredth?

What is the value of the digit in the number ?

Which is greater, 0.3 or 0.14? How do you know?

What decimal numbers are the arrows pointing to?
A B

ey

4
N

Stem Sentences:

There are tenths, hundredths and thousandths.

The number is
There are in

is 10 times/one-tenth the size of .

YEAR 6

Key

Vocabulary:

3 decimal places
represent
place value
values
digits
partition
columns
tenths
hundredths
thousandths
.times the size
within 1
greater
whole
one-tenth the size




Small Steps:

Place value within 1.

Place value —
integers and
decimals.

Round decimals.
Add and subtract
decimals.

Multiply by 10, 100
and 1,000.

Divide by 10, 100
and 1,000.

Multiply decimals by
integers.

Divide decimals by
integers.

Multiply and divide
decimals in context.

Use the cards to complete the sentences in as many ways
as possible.

|ten5 | |unesl |l.enﬂ15| |hundredths| |tl1|:||_|saru:ll:l15

are 10 times the size of

are one-tenth the size of

are 100 times the size of

are one-hundredth the size of

are 1,000 times the size of

are one-thousandth the size of

Complete the sentences to describe the number.

Tth | Hth | Thth
29 ® 9999
9 ® |99
There are ones, tenth, hundredths and
thousandths.

The number is

What decimal numbers are the arrows pointing to?

A B
| | | | | + 1 | | | l |
I | | 1 [ — | 1 |
4 5
C
(| | | | | | | | |
1 1 | | | | 1 | I | |
2.6 2.7
E F €]
Lo + | + L |l| L
| v T T " Tl | | I A D A B |
9.34 9.35 9,26

Key Questions:
What does a decimal number represent?

How many tenths/hundredths/thousandths are there in 1

whole?

How many thousandths are there in 1 hundredth?

What digit is in the ___ column?

What is the value of the digit ____ in the number ___ ?

Which is greater, 1,897 or 3.1? How do you know?

YEAR 6

Key

Vocabulary:

Is the statement always true, Q Tth

Hth

sometimes true or never true?

A number with 3 decimal places
is greater than a number with onky

1 decimal place. number greater than 1
o What is the value of each digit in
Exploin your onswer. kg; your number?
How many ways can you partition it?
Stem Sentences:

Thereare __ ones, __ tenths, _ hundredths and __
thousandths.
The numberis
There are in

is 10/100/1,000 times the size of .
is one-tenth/hundredth/thousandths the size of )

Use five plain counters to make a

3 decimal places
greater than 1
place value
digits
decimal
partition
integer
ones
tens
tenths
hundredths
thousandths
columns
.times the size
one-tenth the size
number lines
represent
whole
value
greater




Small Steps:

Place value within 1.

Place value —
integers and
decimals.

Round decimals.
Add and subtract
decimals.

Multiply by 10, 100
and 1,000.

Divide by 10, 100
and 1,000.

Multiply decimals by
integers.

Divide decimals by
integers.

Multiply and divide
decimals in context.

Complete the table.

Mumber 3472 | 2195 | 0804 °
Previous integer 3 .
Mext integer 4
Previous tenth 3.4 .
Mext tenth 3.5
Previous hundredth 3.47 .
MNext hundredth 3.48

Use the number line to complete the sentences,

1.862

I - - I Il A O T
T D DT I I DR A DA D B
1.8 181 182 183 184 185 186 187 188 189 19

1.862 is closer to than

1.862 rounded to the nearest hundredth is

Use the digit cards to maoke the stotements correct.

4 5 (] 7

You may use each card once anly.

.B03 rounded to the nearest integer is &

5.9 rounded to the nearest tenth is &

6, rounded to the nearest integer is 6 °

[ ]
002 rounded to the nearest hundredth is 6

Key Questions:

What is next/previous integer/tenth/hundredth?

Using the number line, which multiple of ___is

to?
If you are rounding to the nearest
you need to look at to decide where to

closer

, which column do

round to?

If the digit in this column is between O and 4, which

multiple should you round to?

Which multiple should you round to if the digit is a 5?

Use the number line to complete the sentences.

zf

1 ] ] i
2 21 22 23 24 25 26

2.38 is closer to 2 than 3

| T B |
27 28 29 3

2.38 rounded to the nearest integer is

2.38 is closer to 2.4 than 2.3

2.38 rounded to the nearest tenth is

Stem Sentences:

The previous/next multiple of is
is closer to than )
So rounded to the nearest is

YEAR 6

Key

Vocabulary:

round
decimal places
integer
tenth
hundredth
multiples
before/after
number lines
column
place value
right
previous/next
closer to
nearest




Small Steps:

Place value within 1.
Place value —
integers and
decimals.

Round decimals.
Add and subtract
decimals.

Multiply by 10, 100
and 1,000.

Divide by 10, 100
and 1,000.

Multiply decimals by
integers.

Divide decimals by
integers.

Multiply and divide
decimals in context.

Whitney is working out 42.6 + 3,02 using a place value chart.

T Hth
o9 P9 @99 4246 0
29 19® + __3.:02
L L 4 56 2
L 2 9
[ ]

Esther uses place value counters to work out 1.615 - 0.64

Tth Hth | Thth
oo |ee FiE1l S
oo o0 - 0:6 4
D &, L] 0:97 5
-
(SR | <o e
e @
2
]
0 « 9 E | 5
N k2 ™y
i Tiny has represented 16.53 + 5485 on a place
wvalue chart.
IS = o S T BT B LTE
L *® D | P9
*® 199 | @
*® | @
*® 9 29 D9
*® 99 .99 D
» o9 | ®
®®
wWhat mistake has Tiny made? ;‘_/)'
Represent the calculation correctly. @
What is the correct answer?

YEAR 6
Key

Vocabulary:
Key Questions: add
How can you represent this question using place value SlfbtraCt
counters? 3 decimal places
Do you have enough to make an exchange? exchanging
Do you need to exchange any ? columns
What are 10 tenths/10 hundredths/ 10 thousandths equal plac? value
to? formal written method
If there are not enough tenths/hundredths/thousandths for zero placeholders
the subtraction, what do you need to do? bar models
part-whole models
calculation
. tenths
Ron is finding the total of 0.64 and 0.27 hundredths
1 will need fo exch thousandths
10 wungzr:drhs :: Iu'rg?":h. equ al to

How does Ron know this?

Use a place value chart and counters to find the total

of 0.64 and 0.27
Stem Sentences:
added to is equal to )
subtract is equal to
tenths added to tenths is equal to tenths.

I do/do not need to make an exchange because...



Small Steps:

Place value within 1.

Place value —
integers and
decimals.

Round decimals.
Add and subtract
decimals.

Multiply by 10, 100
and 1,000.

Divide by 10, 100
and 1,000.

Multiply decimals by
integers.

Divide decimals by
integers.

Multiply and divide
decimals in context.

Mijah multiplies 0.213 by 1,000 using o place value chart,

H T Tth | Hth | Thth
’Q@D ' 1
| )xi,mn
H T Tth | Hth | Thth
o9 ® gﬂ

0213 x 1000 = 213
213 is 1,000 times the size of 02130123 is
one-thousandth the size of 213

Jock uses a Gattegno chart to work cut that 0.46 = 100 = 46

10 20 30 40 50 &0 70 80 90

1 2 3 4 L] 7 -] a
o1 0.2 03 0.4 05 0.6 i) 0.8 0.9
0. 0.02 003 [ 004 0.05 I:I.D\SI 007 | 008 0.09

Amir uses a place value chart to divide 312 by 1,000

H T Tth | Hth | Thth
oP9® 99
[
l+1_mn
H T Tth | Hth | Thth
gﬂﬂ L X

312 + 1000 = 0.312
312 iz 1.000 fimes the size of 0312

03172 is one-thousandth the size of 312

Key Questions:
How can you represent multiplying/dividing a decimal
number with place value counters?
What number is 10 times the size of __ ?
What number is 100 times the size of __ ?
What number is 1,000 times the size of __ ?
How can you multiply/divide decimal numbers using a
Gattegno chart?
How can you use counters on a place value chart to
multiply/divide numbers by 10/100/1,000?
What is one-tenth the size of __?
What is one-hundredth the size of __ ?
What is one-thousandths the size of __ ?

Alex divides 0,12 by 10 using place value counters.

012

012
i

| 0000000000
® | 00000000¢
® | 02000000008

012 +10 = 0012

1 terth = 10 hundredths
1 hundredth = 10 thousandths

Stem Sentences:
is 10/100/1,000 times the size of :

is one-tenth/hundredth/thousandth the size of .
To multiply by , I move the digits places to the
To divide by , I move the digits places to the .

YEAR 6

Key
Vocabulary:
multiplied
2 decimal numbers
ten
hundred
thousand
place value
decimal number
exchange
column
left/right
Gattegno chart
.times the size
one-tenth the size
divide
whole
powers of 10




YEAR 6

Key
Vocabulary:
Small Steps: » Dexter uses ploce value counters to work out 3.42 = 3 Keu Q uesti_o ns: mult[ply EI
1. Place value within 1. Tth Hth *  What is an integer? - decimal places
2. Place value - 0009 00 5 14 g * If youknow 3 x 2 = 6, what else do you know? integers
integers and 1{8000 g@ 102 6 * How can you show multiplying decimals by integers using ten
decimals. o 10000 © HEEE counters? hundred
3. Round decimals. * How is multiplying decimal numbers similar to/different thousand
4 Add and subtract Aisha and Filip are using counters to work out multiplications. ﬁ_om multlplglng whole numbers? mult'lpucat'lon _fQCtS
decirTmls. Aisha: 213 x 4 = 852 Filip: 2.13 = 4 = 852 Do you have enough hundredths/tenths/ones to make an place value
5. Multiply by 10, 100 .jH.y .; E = 7;1 ';h' exchange? exchanging
ar.ld. 1,000. oo | ® hli tbi o0 o je0e If you know that + = , what else do you calculations
6. Divide by 10, 100 o0 | o [eeel o0 o [00e Rnow? 1-digit number
and 1,000. Y ® ooo o9 o |@ee * If you make the number being divided one-tenth the size, 2-digit number
7. Multiply decimals by v Y what must you do to the answer? partitioning
integers' What is the some and what is different obout their calculations? * How can you show this division Usmg Place value similar to/diﬁerent from
8. Divide decimals by | counters? whole numbers
integers. Sm:l: usi?:;cf:ﬂlue counters in a place value chart to * How many groups of ____ can you make with ____? hundredths
9. Multiply and divide e I_m o ) _ , *  What happens to tenths or hundredths that you cannot tenths
decimals in context. He writes his calculation using the formal written method. 9roup? ones
Stem Sentences: equal to
1+3 3 * Ineedtoexchange 10 for 1 . divide
4 | 543 72 * [ know that 9x = J ,so I also know that division facts
X = . pattern
* __ multipliedby __ isequalto___ . smaller/greatest
* I know that + is ,s0 [ also know that __ groups
+ s : formal written method
 If___ ones dividedby ___ isequalto___ then one-tenth

tenths/hundredths divided by is equal to



YEAR 6

Key
Vocabulary:
Small Ste_pS: The table shows the prices of items in a shop. Keu Q ueStio ns: _formal written methods
1. Place value within 1. — o * How can you tell what operation you need to perform to multiplication
2. Place value — PyS—— 224 answer this qu_est'lon? division
integers and e ' ' ' ( l
Z‘ .9 l Book £5 25 * How can you represent this question using place value place value
ecimals. - o a0 counters? tenths
3. Round decimals. D 475 ¢ What do you need to work out? hundredths
4 Ad‘.i and subtract _ * How can you draw a bar model to represent this problem? contexts
decimals. Esther wants to buy three magazines. * Do you need to convert any units of measure to answer this solve problems
5. Multlplg bg 1 O, 100 5|'H-3 LISEs cuirris;n a pluie 'uralu: 1:h.urtI olongside the formal questlon? bar models
and ‘l ’OOO wWritten method to work out the total cost, Operatlon
6. Divide by 10, 100 D ST e 1.28 m:i?;‘i:;“““ equally order
and 1,000. B0 BE [eeee conversions
7. Multiply decimals by = 242 4 _ units
nteders @@. ..@ ‘T Y) S ; There is .5.12 kg
gers. of sand in each measure
8. Divide decimals by 00 186 |esee 6y712] pucket because
: P S g N 128 x 4 = 512 convert
integers. A multiplied
9.  Multiply and divide : - divided
decimals in context. Explain the mistake that Tiny '@
has mode,

& box of chocolates costs 4 times as much as a chocolate bar, What is the mass of sand in

Together they cost £7.55 each bucket?
| EV55
o — ‘ Stem Sentences:

. multiplied by is
divided by is

How much more does the box of chocolates cost than the
chocolote bar?
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Small Steps:

1-step function
machines.

2-step function
machines.

Form expressions.
Substitution.
Formulae.

Form equations.
Solve 1-step
equations.

Solve 2-step
equations.

Find pairs of values.
Solve problems with
two unknowns.

o has mode o function machine.
input cutput

If the input
is 5, the output
is 12

If the input is 7, what is the output?

If the input is 4,023, what is the output?

Complete the table for the function machine.
input output

—H -5 >

Input 5 23 51 232 0 -3 =5

Output

# Here is a 2-step function machine,
input output

M X2 Fh 41

If the input is 5, what is the output?

If the input is 10, what is the output?

# Complete the tables for the function machines,
input output input output

2 o3 W 23N 2 M

put | 3 | 4 | 5 (10| |Input | 3 | 4|5 |10

Output Output

Key Questions:
How does the function machine work?
What is the difference between an input and an output?
If you know the input and function, how can you work out
the output?
If you know the output and function, how can you work out
the input?
What is the inverse of _ ?
Does your rule work for all the sets of numbers?
Which function should you apply first?
What happens if you do not following the functions in the
correct order?
When given the output, which function should you do first?

What Is the input if the output is ?
What is the missing function if the input is , the output
is and one of the functions is ?

Does it always matter what order you apply the functlons?

Stem Sentences:
If the input is , the output is .
If I know the output, I need to ..

If the input is and the output is , then the function is
First, I am going to , then I am going to .
If the input is , then the output is .

The inverse of then is then .

YEAR 6

Key
Vocabulary:
algebra
function machines
operations
inverse
missing numbers
input/output
function
rule
calculate
difference
1-step/2-step
order
forwards/backwards
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Small Steps:
1-step function
machines.

2-step function
machines.

Form expressions.
Substitution.
Formulae. A=
Form equations. "
Solve 1-step
equations.

Solve 2-step
equations.

Find pairs of values.
Solve problems with
two unknowns.

Jo and Max are using cubes to represent unknown numbers
and base 10 ones to represent 1

@ »-
53 ¥ O3 0

I have 3x
and £ This is

X+ 2

I have 4 |ofs
of X, which I can
write as 4x

.

[ hax JI

Dan writes an expression for the 2-step function machine.
input output
b ox2 bl +3 ]

& " HpHE HPK
L1 11
—F Z2x+3

b

x e £x

Tom draws three shopes and gives each one a value.

H: A @

Waork out the values of the expressions.
@ -l
=~ A@®

Key Questions:
What could x represent?
How can you represent this expression using a bar model?
How else can you write a+a?
What is the same and what is different about the
expressions x+5 and 5x?
If the input is p, what is the output?
If m is the input, what is the output after the first
operation? What is the output after the second operation?

YEAR 6

Key
Vocabulary:
algebraic expressions
letters
numbers
convention
multiplied
repeated addition
base 10
unknown number
function machines

If 1 cube is worth ____, what are 3 cubes worth? input/output
What does 4x mean? If you know the value of x, how can bar models
you work out the value of 4x? same/different
What does substitute mean? Operation
How can you represent the expression as a bar model? add/subtract
Which parts of the bar model can you replace with a altogether
number? What is the total value of the bar model? values
Which part of the expression can you work out first? What substituting
is the total value of the expression? total
Stem Sentences:

_____more than x can written as ____

+ + =3 x =
If Thave ____ x and I add/subtract x, then T have ____ x altogether.
If ___ isworth , then is worth .
To work out the value of ____, I need to replace the letter _____ with the
number __ and then calculate




YEAR 6

Key

Vocabulary:

Small StePS: Ron uses a formula to work out the areas of rectangles, Keu Q uestio ns: Jcormulae -
1. 1-step function . e *  What is a formula? - symbols

machines. Whenl=7and 1w =4 4 =34 =28 *  What formulae do you know? area
2. 2—step function What do the letters A, L and w represent? * How is a formula similar to/different from an expression? substitute

machines. ) Use the formula to find the areas of the rectangles. ° What is the formula ‘fOF _? values
3. Form expressions. Ig . * If the formulais t = 3s + 1 and you know that s = | input
4. Substitution. | ; how can you work out t? output
5. Formulae. eem "™« Which letter(s) do you know the value of? Which letters(s) relationships
6. Form equations. }, cm can you work out? variables
7. Solve .1 -step - — > difference
3 g?llvc:g:iep Max and Jo use this f_urmulu @ Fay makes a sequence of patterns with stars and circles. ] e_i(p?j_Sion

to work out the cost in pounds (C) L FX /D DLAD 9,00\ BLAD stmuar lﬂ:erent
equations. of four hours (h) of cleaning. * * * * * * letters
. Find pairs OJC values. Complete the table to show the number of circles and stars in

10. Solve problems with C=20+10h the patterns,

two unknowns. Number of stars 1 2 3 5 The table shows the total number of legs on a given number

KNumber of circles 2 18 30 ofants
Mumber of ants (@) | 1 2 3
s~ fstors e~ rumber o e i Numberoftegs ) | o | 72
| s=2+c | | c=5+2 | | c=2g | | s=32r | |23=c: +2| Complete the table and write a formulao that describes
the pattern.
1 think it
560 O Stem Sentences:
* Intheformula ____, the letter ____ represents ___ and the letter __
Who do you agree with? represents .

C

Explain your answer. To work out when I know , I substitute into the formula.



YEAR 6

Key
Vocabulary:
small Ste_ps. Tom thinks of @ number and calls it x. Keu Q uestio ns: _]COI’m equat[ons
- i Which i ts 5 than Tom" ber? . e . . .
1. T-step function T CHPTESSION TERTESENT 5 MAre fhafl Toms umher * Ifais a number, how do you write “3 times the value of a”? diagrams
machines. 5x x+5 =t X+5 * How do you write “4 more than the number x”? word descriptions
2. 2'5'“-;1? function Double Tom's number is 64 * If 4 more than the number x is equal to 26, how can you write difference
3 an.ClC Lnes. Which equation shows this information? thi.S as an equation? algebraic
. Form expressions. i i ? '
W bt f Toce | [eacea S ol e Isan equation the same as or different J‘r.om a formular expression
. Dupstitution. *  What is the difference between an equation and an equation
5. Formulae )
' : expression value
6 Form eguations Maox hos represented some equations. p . . . H
' 4 ' - ¢ Can you write the equation a different way? conventions
7 SO[VG 1 -ste Each linking cube represents y and each base 10 cube . . 2 3 b d l.
- P represents 1 e I an equation or an expression? How do you know? ar mode
equations. 7 part-whole models
r a Fl .
8. Solve 2-step @ ﬁ N 2y+3=7 Here is a part-whole model. Q} numerical
equations. more than
: Find palrs O.f values. Whot equations are represented? Wi . ) he J‘ormula
10. Solve problems with 24 19 Fite an equation representing t more/less
k P 1 L L . part-whole model.
two unknowns. ﬁ ﬁ ﬁ @ ceme S —— o equal to
e !Euch shape hos a different times
integer value,
Write equations to match the models. What values might the shapes have?
9 1
x x x i i 5

° Stem Sentences:
o . + + =3 x =

o * The equation means that the expression is equal to )

o o o o . more/less than is equal to can be written as the equation =
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Small Steps:

1-step function
machines.

2-step function
machines.

Form expressions.
Substitution.
Formulae.

Form equations.
Solve 1-step
equations.

Solve 2-step
equations.

Find pairs of values.
Solve problems with
two unknowns.

Ben has 9 counters altogether.

He has 2 counters in his

left hand and ¢ counters in his

closed right hand.

Which equation represents this problem?

c—3=9 3c=9

c+3=1g c=9+3

How many counters does he have in his closed hand?

Write on equation to represent each bar model.

Then find the value of x for each one.

15

X X x

12

Explain how this 2-step function machine shows the equation

2x-11=129
input

output

x M %2

4—11 M 29

Wark out the value of x.

Write and solve eguations for the models.

2|"I
L Ny
9 & &6 o=
37
1
F Al
6 % Ban
]

®O®

Key Questions:
What does the expression 3x mean?
If you know 3 times the value of a number, how can you
use this to work out the number?
How can you represent the problem as a bar model?
How can you represent the problem as an equation?
What is the inverse of _ ?
What does the bar model show?
What can you use to work it out?
How can you draw a function machine to represent the
equation? How does the function machine help you to solve
the equation?
If you know 3 more than 2x, how can you work out 2x?
If you know 5 less than 2x, how can you work out 2x?
How can you represent the problem with a bar model?
Which part(s) of the bar model do you already know?
Which part(s) can you work out?
What is the first step you need to take to solve the
equation?

Stem Sentences:

The inverse of is )

If __ has been added to a number to give

number, Ineedto __ from ___ .

If X + = , then X = ,SOX=__

The first step in solving the equation is to .
The second step in solving the equation is to .

YEAR 6

Key
Vocabulary:
solving
equations
notation
missing number
same as
function machines
input/output
inverse
operations
expression
value
times
bar model
add
one-step/two-step
forwads/backwards

, then to work out the
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Key
Vocabulary:
Small Steps: x and v are both whole numbers. Keu Questions: equations il
1. 1—step function x+y=5 What two numbers could add together to make ? unknown values
machines. _ Ann creates a table to work out the possible sets of values What could the values of x and y be in the equation ? solutions
2. 2'SteP function of x and y. What are there several possible answers for this question? substitution
machines. x ¥ x+y Have you found all the possible pairs of values? How do pairs
3. Form expressions. o 5 5 you know? integer
4. Substitution. Z In the equation , if x = , what must the value of y greater than
5. Formulae. . - be? If x is a different value, does the y also change? equal to
6. Form equations. - How can you draw a bar model to represent the equation negative
7. Solve .‘I -step - ? decimal
equations. multiples
8 SO[VQ 2-step Work systematically to complete Ann's table. d.d
. B a
equat'lons. a and b are both whole numbers. w a, band ¢ are integers between g bar model
. Find pairs of values. Oand5 product
10. Solve problems with ab+b =18
two unknowns. a+h=6 b+c=4 @ and b are both whole numbers.

aand b
must both be
odd numbers.

axh=24

Find the values of a, b and c.

How many possibilities can ‘) Create a table to show all the possible sets of values for
you find? s aand b.
Stem Sentences:
* Inthe equationx +y = , f x = theny = .
Is Tiny corract? * If the product of p and q is , then p could be and q could be

Explain your answer. @



YEAR 6

Key
Vocabulary:
Small Steps: The sum of a and b is 30 Key Questions: solve problems
1. T-step function The difference between a and his 4 * How can you represervlt this information as a pair of unknowns
machines. - v equations? solution
2. 2-step function 30 * How can you represent this information with a bar model? sum
machines. . b i‘T‘ ¢ What information does the bar model show? difference
3. Form expressions. ' *  What else can you work out? bar models
4. Substitution. Use the bar model to work aut the volues of ¢ and b, *  How can you draw a bar model to represent the problem? multiple
5. Formulae. *  Which parts can you label straight away? values
6. Form equations. *  What else can you work out? total
7. Solve .‘I-step Two apples and three bananas @ * Is there more than one possible solution? equations
equations. cost £1.02 equal to
8' SO[VQ 2'SteP Two apples and five bananas ) . . . Pair
equat'lons. cost £1.45 Here is some information about two numbers, x and y. TijE 5U.F“ of x ﬂ“E-'Jf is 12 label
. Find pairs of values. x+y=10 *Eatmesthesk=ofy. lots of
10. Solve problems with £1,02 x-y=2 C I i worth
two unknowns. ;.&@Q » Label the information on the I}E.Ir miodel. }12 substltuting
: ¥
. = Explain how you can use the bar model to work out the
|‘—' value of y.
..ﬁf‘;‘é@@@i{:’ ! » What is the value of x?
" : y i Use the bar model to work out the values of x and y. Are there any other possible solutions?
£1.46
What is the total cost of one apple Stem SentenceS:
and one banana? . IJC _____lots OJC X is worth ., then x = + = .
* IfIknow the value of __, I can find the value of ___ by substituting

into the equation )



Small Steps:

1. Add or multiply?

2. Use ratio language.

3. Introduction to the
ratio symbol.

4. Ratio and fractions.

5. Scale drawing.

6. Use scale factors.

7. Similar shapes.

8. Ratio problems.

9. Proportion problems.

1

0. Recipes.
ol [ )
2| 4] [8]] |
I

Each of these
sequences can be completed
using either addition
or multiplication.

00
Do you agree with Tiny?

—
Explain your answer. @

The relotionship between 2 and 8 can be described os additive
or multiplicative,

+6 x 4
8 is 6 more /7 | 8is four times
2 8 than 2 2 8 | the size of 2
K/ 2is 6 less %___/ | 2is a quarter the
-6 than 8 +4 size of 8

Complete the models to show the additive and
multiplicative relationships.

The double number line shows the relationship between
two sets of numbers.

Fill in the missing values to describe the relationships.

+ x =
o 2 4 3 8
P
s l %
WA
+ ® +

Key Questions:
How can you describe the relationship between these two
numbers using addition/multiplication?
What is the inverse of addition/multiplication?
What addition/subtraction/multiplication/division
calculations can be written from this information?
Is the relationship in the sequence additive or
multiplicative?
How do the relationships on the upper number line relate
to those on the lower number line?

Complete the sequences,

> 4! EJ Ll 32! ¥
> 14,27, 28, .
=1, (27,81,

Are the relationships additive or multiplicative?
Could they be both?

Stem Sentences:
X = and + =
is times the size of

is [ the size of .

YEAR 6

Key
Vocabulary:
additively
multiplicatively
expressed
addition
multiplication
sequences
relationship
inverse
.times the size
a third of the size
double number lines
calculations
upper/lower
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Small Steps:

Add or multiply?
Use ratio language.
Introduction to the
ratio symbol.

Ratio and fractions.
Scale drawing.

Use scale factors.
Similar shapes.
Ratio problems.
Proportion problems.
Recipes.

Complete the sentences to describe the counters.

There are

For every

For every

red counters and

yellow counters.

red counters, there are

yellow counters, there are

yellow counters.

red counters.

Complete the sentences to describe the cubes.

MMMy oo
MMM oo

For every 16 yellow cubes, there are
For every 8 yellow cubes, there are

For every 1 blue cube, there are

blue cubes.

blue cubes.

yellow cubes.

Amir is using a double number line to find equivalent ratios.

@P00PPPOEPPOEO®

blue

0

VS

1 4

green 0 bﬁ

),_

YEAR 6

Key
Vocabulary:
Key Questions: ratio
How can you give the relationship between the number of multiplicative
____and the number of ? relationship
For every __, how many ____ are there? amounts
How can you rearrange the counters to make the ratio value
simpler? related
What number is a common factorof __and ___? comparisons
How can you use this to make the ratio simpler? double number line
How many __ would there be if there were __ ? equivalent
If there are 3 blue counters and 5 red counters, how can expressed
you describe the relationship between these numbers? ratio symbol
What does the : symbol mean in the context of ratio? dividing
What does 2:3 mean? common factor
How can you compare the relationship between three simplifying fractions
quantities? rearrange
Are the ratios 2:3 and 3:2 the same? simpler
How else can you write the ratio 2:4? for every..
colon
Stem Sentences: order
For every there are . notation
If there were ____, there would be measure
A common factor of and is : ~ Mmasses
For every ,there are ____ which can be writtenas . . mgrefilents
The ratio of to is : . recipes
Intheratio __ : | the first number represents ____ and the second

number represents




YEAR 6

Key
Vocabulary:
Small StePS: The ratio of red counters to blue counters in a box is 1:2 Keu Questions: dlﬂerences i
1. Add or multiply? 0® e *  What is the ratio of one part to another? similarities
2. Use ratio language. . * How many parts are there altogether? ratios
3. Introduction to the = Whatfraction ofthe counters are blue? *  What fraction of the whole is the first/second/third part? fractions
ratio symbol. - Whatfraction of the counters are red? * How are fractions and ratios similar? How are the simplifyin
| . . y PWyying
4 Ratio and fractlons. > x:u: s :I]:f:um;ubuut the ratio and the fractions? different? divid'mg
5. Scale drawing. o STErEE *  What fraction does the ratio 1:2 mean? Is this the same as common factors
6. Use scale factors. . 5 Y2 or is it different? bar models
7. Similar shapes. This bar model represents * How can you represent the ratio/fraction as a bar model? counters
8. Ratio problems. - | ] B whole
9. PFOPOI’thYI PrOblems' This bar model represents 2:5 There .urE some red and green g—') altogether
10. Recipes. cubesin a bag. bar model

What is the same and what is different about the bar models?

% of the cubes are red.

Are the statements true or false?

Use the dingram to complete the sentences. For every 2 red cubes, there For every 5 green cubes,

Q Q @ Q @ are 7 green cubes. there are 2 red cubes.

The ratio of blue counters to green countersis2:

2 For every 2 red cubes, there For every 5 green cubes,
The fraction of counters that are blue is ﬁ are 5 green cubes. there are 7 red cubes.

The bar model shows the ratio 2:3:4

[(p]p]Y[y[vy[e]e]e]s] Stem Sentences:

» What fraction of the bar is pink? * The ratio Of to is
» What fraction of the bar is yellow? * There are parts altogether.
» What fraction of the bar is blue? * The _fractlon that is s




Small Steps:

Add or multiply?
Use ratio language.
Introduction to the
ratio symbol.

Ratio and fractions.
Scale drawing.

Use scale factors.
Similar shapes.
Ratio problems.
Proportion problems.
Recipes.

What is the scale factor of enlargement from P to Q7

A square has side lengths of 12 cm,

Scott has draown a scale diogram of the shape in which the side
length of each square in the grid represents 2 cm. R

Mo draws o square twice as big as square A and labels it B.

Square A
has been enlarged
by a scale factor
of 2

o

YEAR 6

Key
. Vocabulary:
Key Questions: " atio J
How do you know if a diagram is drawn to scale? multiplicative
Why might you need to draw a scale diagram? relationships
If 1 square represent 5cm, what do __ squares represent? How scale
do you know? accurately
If 1 square represents 5cm, how many squares represent ____cm? scaled
How do you know? proportion
Is there more than one way of finding the missing value? dimensions
How is a scale like a ratio? calculating
What does “scale factor” mean? scaled lengths
How do you draw an enlargement of a shape? squares
How can you work out the scale factor of enlargement between two rectangles
shapes? rectilinear shapes
If a shape has been enlarged by a scale factor of , how can value
you find the dimensions of the original shape? represents
Do you need to multiply of divide to find the missing length? How enlarge
do you know? enlargements

Stem Sentences:

.times as big

____squares represents ____, so each square represents ____. scale factors
Each square represents , SO squares represent ____ x inverse

= . operations
Each square represents , SO is represented by __ + multiply

= squares. divide
The shape is ____ times as big, so the scale factor of the
enlargement is ____.
If a shape has been enlarged by a scale factor of __, I need to

by to find the original dimensions.
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Small Steps:

Add or multiply?
Use ratio language.
Introduction to the
ratio symbol.

Ratio and fractions.
Scale drawing.

Use scale factors.
Similar shapes.
Ratio problems.

Proportion problems.

Recipes.

These two shapes
cannat be similar,

different ways.

Do you agree with Tiny?

Explain your answer.

because they are facing

-/

Explain why shapes A and B are similar.
Explain why shapes A and C are not similar.
Draw another shape that is similar to A.

Compare answers with a partner.

Which of the shapes are similar to shape A?

m
-
-,",

The Eiffel Tower is 320 m tall
and 120 m wide.

Tommy makes a scale model of the
Eiffel Tower.

His model is 16 cm tall.

- How wide is his model?

Key Questions:
What do you think “similar” means?
What is the scale factor of the enlargement?
Have all the sides been enlarged by the same amount?
What are corresponding sides? Can you identify the
corresponding sides in these two shapes?
What do you notice about corresponding angles in similar
shapes?
Does it matter that the shapes are in a different
orientation?

These two triongles are similar.

YEAR 6

Key
Vocabulary:
similar shapes
corresponding sides
proportion
corresponding angles
equal
enlargement
similarity
scale factor
relationship
protractor
orientations
amount

10 cm 12 cm
[
) 8cm ' ) 16 cm !
Find the lengths of b and c.
Measure the sizes of all the angles.
What do you notice?
Stem Sentences:
Each side of the shape is times the size, so the shape has been
enlarged by a scale factor of . Therefore, the shapes are

I know that the shapes are similar, because the corresponding sides have
been enlarged by the same , and the corresponding angles are .
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Small Steps:

» Ronis doing o sponsored walk for charity.

Add or multiply?
Use ratio language.
Introduction to the

For every mile he walks, he will raise £7

®7

If T walk 4 miles

. 1 mile £7
ratio symbol. *4 Qg miies £28€ 2 il roise £28 ) (2@
Ratio and fractions. \__A
Scale drawing. x7

Use scale factors.
Similar shapes.
Ratio problems.

Proportion problems.

Rec'lp es The double number line shows the relationship between miles
and kilometres.

How much will Ron raise if he walks 3 miles?
How much will Ron raise if he walks 22 miles?

How many miles will Ron need to walk to raise £427

Complete the double number line.

0 5 10 15 20
miles
kilometres

0 8 16 40

Complete the statements.

55miles=______km miles = 96 km

Ewva buys 3 bread rolls for 75p.

o 1 2 3 4 5 If I know the cost L0
rolls of 3 bread rolls, I can work *“r-'-_-
cost out the cost of 1 bread roll =

0 75p by dividing by 3

Tell a partner how this will help Eva to find the cost of 5 bread rolls.
What is the cost of 5 bread rolls?

YEAR 6

Key
. V ry:
Key Questions: oc:)l;lt: :l‘: Y
What is the ratio of to ? P ratio
If there are , how many must there be? multilicative
If the total number of is , how many must there relat'E) nships
be? :
If there are more than , how many are there in n:il:\lifiy
total?
How can you draw a bar model to solve the problem? Which a\r/r;ti:zt
parts of the model do you know? How can you work out the equivalent
remaining parts? 'f(iactlons
What is the multiplicative relationship between and * double number lines
If 3 cost £ , how much do 12 cost? vertical
If5 cost £ , how can you work out what 1 horizontal
?
costs: bar models
Once you know what 1 ___ costs, how can you work out what interpretation
q cost?

—_— ?
How can a double number line help you solve this proportion HOV‘t’OTaCth'
problem,? bar model

Stem Sentences: parts
The ratio of to is : . equal to
I know that multiplied/divided by is equal to , SO proportion
to find out how many there are, I need to multiply/divide by one-step
_ two-step
If costs , then costs :
To get from to , I multiply/divide by :

To find the cost of 1 , will ..
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Small Steps:

Add or multiply?
Use ratio language.
Introduction to the
ratio symbol.

Ratio and fractions.
Scale drawing.

Use scale factors.
Similar shapes.
Ratio problems.

. Proportion problems.
0. Recipes.

Smoothie @\

2 apples

Here are
the ingredients
for making

one smaothie. 3 bananas

500 ml milk

I have 7 apples,
9 bananas and 1 litre
of milk.

Kim

—
| Alex |

I have 6 apples,
10 bananas and
15 litres of milk.

©

Who can make the most smoothies?

L.

I have 10 apples,
5 bananas and
750 ml of milk.

Here are some ingredients
for cupcakes.

Cupcokes (makes 5)
T ts t ke 10 kes.
om wants to make 10 cupcakes 100 g flour
Explain to a partner how to work
. . ) 2 eggs
out what ingredients Tom will need.
r
How much of each ingredient will LRI
Tom need to make the different
numbers of cupcakes?
15 cupcakes 20 cupcakes 25 cupcakes
Here are some ingredients for soup.
Soup (for 6 le)
How much of each ingredient P peop
is needed to make soup for 1 onion
the different numbers of people? 60 g butter
180 g lentils
1.2 litres stock
480 ml tomato juice

2 people 1 person 9 people
Here are the ingredients for
an apple crumble. Apple crumble
How much of each ingredient (5 peaple)
is needed to make apple crumble 300 g plain flour
for the different numbers 225 g brown sugar
of people?
200 g butter
450 g apples
10 people 12 people

Key Questions:

How can a double number line help you to decide how

much of each ingredient you need?

How many times more people are there? How will this affect

the amount of each ingredient needed?

Do you need to find the amounts needed for one person

first? Why or why not?

What is the greatest number of you can make with

?

How does changing the quantities in a recipe link to using

scale factors?

Sam is making pancakes.

She follows a recipe with this list
of ingredients.

She has 1.2 litres of milk and
wants to make as many
pancakes as she can.

How many eggs will she need?

Pancakes

120 g plain flour

2 eqgs
300 ml milk

Stem Sentences:

There are
each ingredient.

YEAR 6

Key
Vocabulary:
ratio
proportion
solving problems
ingredients
recipes
adapted
scaling-up/scaling-down
amount
multi-step
multiplying
dividing
quantities
adjusting
double number line
greatest
scale factors
.times as many

times as many people, so I need times as much of

First, I will find the quantities for 1 person by dividing by and then

I will multiply this by :



YEAR 6

Key

Srrall St Vocabulary:
ma eps. H .
1 Sh -p Complete the sentences to describe the rectangle. Keg Q uestions: areas
: apes — same cem The length of the ractangle is . * How can you find the area of this shape? Is there more than shapes
2, i
area. . [TTT1T] The width of the rectangle is cm. one W(ly—I> dlf.]cerence
2. Area and peirlmeter. 6cml | Thetotal number of squares in the * Do shapes that have the same area have to look the same? perimeter
3. Area of a triangle - T rectongleis * How can you use factor pairs to find shapes that would counting
count[ng squ,o_res_ e The area of the rectangleis _____ cmé® have the same area? squares
4. Area O_f a I’lght— Use the szme method to find the areos of these rectangles. . How would gou draw more than one rectangle that has an 'ld_ent'lj:g
H cm
angled triangle. — . area of __cm2? same
— 1 1 | cm o
5. Area of any aem | 0 I+—r rectilinear
. l.e R | 2cm ==t .. .
triangle. 11 :I:[ These two shapes multiplication
6. Area OJC a What do you notice? cannot have the same areq, rectangles
as they look different. .
parallelogram. Y factor pairs

7' Volume _ count'lng Eoch square represents 1 cm? total
cubes. Mmoo | om -Im length

8. Volumeojacubold. 11 EE EEEE EEEN RN ) 8cm width

[ 11 L1 [ 131 cm
i *
Which shapes have an area of 12 cm?? 24 cm

il |

Which shopes have an area of 16 cm??
Do you agree with Alex?

Why is there more than one representation for each? o
Explain your answer, '.._},'I

Which two rectangles have the same area?
Find the areas of the rectangles.

; Stem Sentences:
-I * The total number of squares in the rectangle is
3cm B 2 cm S5cm T T .
* The area of the rectangle is cm?2.
————F ' .
8 cm  m— — * The length of the rectangle is cm.
7com Bocm . X
— * The width of the rectangle is cm.
4cm Explain your method to a partner.

How do you know? * The area of the rectangle is cm?2.
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Key
Vocabulary:
Small StepS: » Find the area and perimeter of each rectangle. Keu Questions: areas -
1. Shapes — same ) 12em . *  What is perimeter? What is area? perimeters
area. Izcm * How can you find the area of the rectangle? rectangles
2. Area and perimeter. ) 6 cm _ * How can you find the perimeter of the rectangle? rectilinear
3. Area of a triangle — sem *  What is the formula to find the area of a rectangle? shapes
counting squares. Jem * How can you split the rectilinear shape into rectangles? Is compare
4. Area of aright- : there more than one way? efficiency
angled triangle. Compare methods with a partner. * How is finding the area/perimeter of a rectilinear shape split
5. Area of any different to finding the area/perimeter of a rectangle? How calculating
trian le » Work out the perimeters of the rectilinear shapes. .. .. 3
gle. oo is it similar length
6. Areaofa - ke pu— *  How can you work out the other side lengths? add
parallelogram. r - ) 2ch subtract
. cm
7. Volume — counting 5em >em part
b Bem 3em Both of these rectilinear shapes are made from two rectangles. L.
cubes. 7em missing
8. Volume of a cuboid. 3cm whole
4cm 4cm
L ——— —» formula
1em . 5 }; erm similar
’ 3 cm .
Tiny is finding the area of this shape. g < 8 & em . m— dlﬁ erent
2cm I A 2 C”"I C l

Areaof A=6cmx5cm
= 30 cm?

The area is 32 crm? Work out the areas of the rectangles to work out the areas of the
rectilinear shapes.
Area of B=1cmx 2 cm

=2 em? Do you agree with Tiny? Stem Sentences:
Total area =32 cm Explain your answer. * The formula to find the area of a rectangle is ..

* To find the perimeter of a rectangle, I ..




N

Small Steps:

Shapes — same
area.

Area and perimeter.

Area of a triangle —
counting squares.
Area of a right-
angled triangle.
Area of any
triangle.

Area of a
parallelogram.
Volume — counting
cubes.

Volume of a cuboid.

Complete the sentences to find the area of the triangles.

The triangle has full squares.

The triangle has half squares.

+ =

The total area of the triangle is cm?

Draw three different triangles that have an area between

S5 cem?and 15 em?

Label the approximate area of each triangle.

1em
i+

$1em

Key Questions:

* How is finding the area of a triangle similar to finding

the area of a rectangle when
different?

counting squares? How is it

* How will you count the squares accurately?

* Is more or less than half the square shaded?

* Can you see any parts of squares that combine to make
approximately one full square?

* How does the area of the rectangle link to the area of a
triangle? Why do you think this happens?

Part of the triangle has been covered.

| [ ]

Estimate the area of the whole triangle.

Would your estimate change if @
the splat was in a different place?

Tiny says that the area of the triangle
is 15 em?

I

Tiny is incorrect.

Explain what Tiny has done wrong.

Stem Sentences:

The triangle has full squares
The triangle has half squares.

The area of the triangle is cm?2.

The approximate area of the triang

le is cm?2.

YEAR 6

Key

Vocabulary:
area
triangle
counting
squares
estimated
efficient
strategies
calculating
shapes
full
whole
half
separately
combine
sections
greater
less than
similar
different
accurately
approximately




Small Steps:

Shapes — same
area.

Area and perimeter.

Area of a triangle —
counting squares.
Area of a right-
angled triangle.
Area of any
triangle.

Area of a
parallelogram.
Volume — counting
cubes.

Volume of a cuboid.

Here is a rectangle and a right-angled triangle.

N,

\

What is the area of the rectangle?

What is the area of the right-angled triangle?

What do you notice?

Scott uses the formula to work out the area of this

right-angled triangle.

1

2

areg = > x base = perpendicular height

1

area=-Lx6x4=1x24=12cm?

2

Find the area of each triangle.

i‘\ﬁm
" Bem

a8 cm

—
8 cm

YEAR 6

Key
Vocabulary:
Key Questions: area
How can you split the rectangle into two right-angles- right-angled
triangles? non-right-angled
What do you notice about the two triangles? triangle
What do you notice about finding the area of a rectangle length
and finding the area of a right-angled triangle? perpendicular
What is the formula to find the area of a triangle/right- height
angled triangle? rectangle

What does “perpendicular” mean? half

How do you know which measurement is the formula
base/perpendicular height? multiply
How do you know which side is the base? base
How do you know what the perpendicular height is? width

How do you know that you are using the correct lengths? split

Is there more than one way to find the area of this triangle? measurement
Is the base always at the bottom of the triangle?
Stem Sentences:

The area of the right-angled triangle is the area of the rectangle.
The formula for the area of a triangle is ..
The base is cm.
The perpendicular height is cm.

Areg=—x ®
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Key
Vocabulary:
Small StePS: Work out the areas of the parallelograms. 1;:_|;n Keu QuestionS: area
1. Shapes — same . $rem « How could you chang-e the parallelogram into a rectangle? parallelogram
area. 7 — How will this help you to find the area? identifying
2. A d peri e
: rea an peirlmeter. L | - * How can you count the squares accurately to find the area? formula
3. Area Of a triangle — * How do you know you have found the base/perpendicular parallelogram
countmg Sq:U.O.reS. Explain your method to a partner. helg ht? properties
4. Area of a right- ¢ What is the formula for finding the area of a parallelogram? compare
angled triangle. Annie has worked out the area of this parallelogram. *  When you have different units, what is your first step? rectangle

5. Area of any cut-and-move
1 area = base erpendicular height
triangle. 5cm D e perendicuiar e rearranged

6. Areaofa =20 cm? length
4?2::1 width

—F
parallelogram. 4cm
7. Volume — count'mg Use Annie's method to find the areas of the parallelograms. — base
8cm
cubes. 25 em perpendicular
; S ——
8. Volume OJC a cuboid. o These parallelograms each have hei ght
\[25¢ \ an area of 40 cm? ‘
. \ multiply
cm . . )
Lrp— Find the perpendicular height of measurements
each shape. count
: . change
Label the base b and perpendicular height h on each parallelogram. + )
16.cm different
Then find the area of each shape. it
untts

The perpendicular height of the parallelogramis __ cm.
11 cm
* The area of the parallelogram is X = cm?2.

Stem Sentences:
6 cm 5.5cm * The base of the parallelogramis ____cm.
3 cm




N

Small Steps:

The cuboid is made using centimetre cubes.
Shapes — same

area.
Area and perimeter.
Area of a triangle —
counting squares.
Area of a right-
angled triangle.

What is the volume of the cuboid?

What is the length, width and height
of the cuboid?

Find the product of the length, width and height.

Here is the formula for the volume of a cubaid.

Area of an

. Jc Y volume = length = width * height
triangle.

Area Of a Use the formula to find the volumes of the cuboids.
parallelogram.

Volume — counting
cubes.
Volume of a cuboid.

23 em

15cm

Vam

Does it matter in which order you multiply the numbers?

-

2cm —§
4cm 3cm 6 m

Find the volumes of the cubes.

GE]IE"“ I4rn

Compare methods with a partner.

YEAR 6

Key
Vocabulary:
volume

Key Questions:
What is volume? amount
How is volume different from area? space
How can you count the number of cubes efficiently? solid

If each cube has a volume of 1 cubic centimetre, what is the object
volume of the shape? counting
How many cubes are there in this layer? How many equal cubes
layers are there? So how can you find the volume? cubic centimetres
What is the length/width/depth of this cuboid? unit

How do you find the total volume of a cuboid? measure
What is the same and what is different about area and shapes
volume? multiplying

What is the most efficient order to multiply the three

single layer
number together?

equal layer

cuboids

Stem Sentences: prlsmls
The volume of the shape is ____ cubes. l:r)ltc'lch
The volume of the shape is cm3. 'gth
There are ____ cubes in each layer and _____ equal layers, so ;:Vl e
the volume is cubes. delg h
There are ____ cubes in each layer. ept
There are ____layers. formula
The volume of the cuboid is ____. d g‘cjl‘;i:nt
The length is . The width is . The height is . =
The volume of the cuboid is X X = assoclative law
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Key
Vocabulary:
Small St3953 The bar mode! is split into tenths, Key Questions: equivalents j
1. Decirpal and 0.1 * If the whole has been-split into 10/100 equal parts, what is fractions
Eeiveonts, |+ Conpleme s . Huoknow that— s squvalent o what | fracton wall
2 Fractions as The whole has been divided into equal parts., you r}ow that ____ s equiva entto___,whatls ____ .
. as a decimal? common denominator
division. Fach part s warth * How can you convert fractions with a denominator of 100 simplify
3. Understand As a froction, this is written to decimals? larger
. I[zre(:z:;t:sgte;- Use the fraction and decimal walls ta complete the equivalents. ¢ How can you conver‘t fractions with a denominator that is a whole
factor of 100 to decimals? equal parts
percentages. ; I i e 1 os * How can you find equivalent fractions? worth
5. Equivalent 1| % 3 i i | % i | i *  Why might it be helpful to find an equivalent fraction with a convert
fractions, decimals | & = | | 0 es | es a2 a2 e denominator of 100/1,000? factor
and percentages. ﬁIﬁ | % | %] 35 ﬁIﬁ ﬁlm mlm o..1||11 |11|:L1 mlnEi o.1||11 . digit
6. Ord.er fractions, %= Q = % = %= I can divide 500 Tiny wants to co mrert% to Q decimal point
decimals and O . O od o ‘ij:ﬁg";ﬂ;;‘fy a decimal, common factors
percentages. 0.2= E =30 == E= [ by 5. 50 I;ZT;?:HETHWH it fo common multiples
/. Percentage of an
amount — one ) ) Explain a different method that @
step. Rosie has converted three-quarters to a decimal. Tiny could use.
8. Percentage oflan . Write 157 a5 a decimal.
amount — multi-
step. ﬂ
9. Percentages ~ T " o007 Stem Sentences:
missing values. A * The first/second digit after a decimal point represents ____.
x 25 * To find an equivalent fraction, I need to or the _ and the

by the same number.
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Key
Vocabulary:
Smau‘ Ste.ps° Aisho uses place volue counters to convert % to a decimal by Keu Q uestions: J‘ractlons
1. Decimal and dividing 1 whole by 2 * If the denominator is , how many equal parts are division
fraction . there? What are you dividing by? converting
equivalents. 5 =05 * Can you share 1 one into 4 equal parts? What can you decimals
2. Fractions as exchange the 1 one for? divisions
division. ¢ What can you exchange the remaining tenths for? place value
3. Understand Kim cunuerﬁ%tuu decimal. *  What do you notice about the decimal parts when dividing exchange
percentages. 1 by 3? tenths
4. Fractions to oi7 5] ’ *  What does “recurring” mean? share
percentages. - T ==075 e Howd k hat Y2=2 or 5/8 = 1.6 b |
4 ]THF 4 ow do you rnow that 2 = 2 or = 1.6 cannot be equa
5. Equivalent ' 1| correct? groups
fractions, decimals multiple
and percentages. Teddy, Rosie and Jack have each found the decimal .:r:;rr;ulz:gplunk of wood that is @ eXChang es
6. Ord.er fractions, equivalent of £ Filip shares 7 large pizzos equally | equivalents
decimals and _ e oainteg 5 with 7 of his friends. short division
percentag es. Teddy Rosie Jack . 8 Esther shares 5 large pizzas with 5 of recurrin
7 P of the plank red. her friends. . 9
' ercentage OJC an 018 7 5 0+1 2 5 011 25 wh izza, Filip or Esther? denominator
— 0 5 4 u] gEE more plzza, Fiip or sthery
amount one |8 Fm & m 8 m How long is the piece of wood that is U ) equal Parts
. se decimals to help compare,
step. painted red? same as
8. Percentage 0_]c an 7+8 1+8 1«8 Give your answer in metres and then
amount — multi- % = DE7S % = 0125 % = 0125 in centimetres,
step. L =7x0125 F=1-0128
9. Percentages — 1< oa7 7. oars Stem Sentences:

missing values.

Explain why each method works.

Whose method do you prefer?

The fraction can be expressed as +

I can exchange 1

for

+ is the same as the fraction
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Key
Vocabulary:
Smau- Ste_pS: Here are some hundred squares. Keu Q uestions: percentages
1. Decimal and What does “per cent” mean? per cent
f racFlon How many parts are shaded/not shaded? parts per 100
equtv‘alents. What does 100% mean? whole
2. Zra.cFlons as How many equal parts is the bar model split into? What equal parts
ivision. i ?
3 Understand How many parts out of 100 are shaded on each percentage (s each part worth: . bar mpdels
- vnderstan hundred square? How many ways could you make 95% using 50%, 25%, multiples
perce.ntages. What percentage of each hundred square is shaded? 10%, 5% and 1%? estimate
4. Fractions to _ splittin
What percentage of each hundred sguare is not shaded? P 9
percentages. _ complements to 100
. What do you notice? 25% is greater
5. Equivalent - than 50% hecause the shared
. . Tommy is comparing I
fractlons, decimals What percentage of each bar mode! is shaded? percentages. “U;/ green part is bigger than halve

the purple part.
and percen‘tages‘ Use the sentences to help.

6. Order fractions, 100% 100% L
decimals and i -:
percentages. 100% 100% 100%

/. Percentage of an
amount — one
step.

8. Percentage of an
amount — multi-

Do you agree with Tommy?

Explain your answer. !z,

100% has been split into equal parts.

Each part is worth %6

Stem Sentences:

step.
9. Percentages — Shade the percentages on the bar models, * If the whole is shared into 100/10/5/4/2 equal parts, each part
missing values. 75% 90% represents ____%.
- If parts are shaded, the percentage shown is %.

* To find %, I can halve %.



1.

Small Steps:

Decimal and
fraction
equivalents.
Fractions as
division.
Understand
percentages.
Fractions to
percentages.
Equivalent
fractions, decimals
and percentages.
Order fractions,
decimals and
percentages.
Percentage of an
amount — one
step.

Percentage of an
amount — multi-
step.
Percentages —
missing values.

Max uses o hundred square to convert iR to a percentage.

100
L]
L]

31 _
100 31% .
L]
L]
The bar models show thut% is equal to 10%. .
L]

1 100%

.l 1R
10

Use the bar models to complete the statements.

g9 _ Ll )
0 S TR

3

0 '*'

= 70%

Whitney converts % to a percentage.

x 20

an’

2 . 60
5 = 100 - °0%*
A

® 20 °

Use Whitney's method to convert the fractions to percentages.

23 23 1

50 25 20 20

Lo
L
=
b
—
s
P

g

Key Questions:
What is a percentage?
If the whole is split into 100 equal parts, then what
percentage is ___ parts equivalent to?
How are percentages and fractions similar/different?
If you know 1/5 is equal to 20%, what percentage is 4/5
equal to?
How do you find an equivalent fraction?
How many 20s/25s are there in 100?
What do you know about the relationship between ¥4 and
1/8?

YEAR 6

) 13
Tiny comverts —= to a percentage.
25 13 13

25 100

Q) x 4

What mistake has Tingy mode?

What is the correct percentage?

Stem Sentences:

% is equivalent to 100

—— Is equivalent to T because ...

The fraction — is equivalent to %h.

Key
Vocabulary:
equivalent fractions
percentages
bar models
equivalents
split
equal parts
non-unit fractions
convert
denominator
multiply
divide
similar/different
equal to
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Key
Srall S Vocabulary:
ma te.ps' Complete the sentences to describe the hundred square. Keu Questtons: fractlon
1. Deamal and * How many parts has the whole been split up into? What decimal
frathon The fraction shaded is% fraction is each part worth? percentage
equivalents. he decimal shaded s « If the whole is 100%, what is 2, Vs, 1/5? equivalents
2. Fractions as ) * If 1/10 is equal to 10%, what is 3/10 equal to? bar models
division The percentage shaded is . . . 5 ber li
. * How do you find equivalent fractions: numoer lines
3. Understand * How many 5s are there in 100? non-unit fractions
perce.n_tages, What is the same about each bar model? What is different? ° Can the _]CFO.Ct'lOTI be Slmpll_]tlEd.? HOW dO you know? convert'lng
4. Fractions to 1 p denominator
percentages. . conversion
5. Equlvalent 1 > Dexter converts 1_13 to a decimal and o percentoge. SmelLfg
fractions, decimals 100% . parts
and percentages. - N whole
6. Order fractions, B . 85 .065-65% split
decimals and Shade three parts of each bar medel. A worth
percentages. What fraction, decimal and percentage is shaded? e equal
7' Percentage O_f an What other equivalent fractions, decimals and percentages Explain Dexter's method.
amount — one can you find?
u —_—
step.
8_ Percentage of an {umplete the number line to show the equivalent fractions, Stem sen’ten’ceS:
amount — multi- decimals and percentages. * If the whole is equal to 100%, then each part is worth ____ %.
step. Lo 1 O
9. Percentages — . o e 1 « If Tl equalto ___ %, then 0 is equalto ___ %.
missing values. | | | I I | '
0% 40% B0% * To find an equivalent fraction with a denominator of 100, I need to

by .



1.

Small Steps:

Decimal and
fraction
equivalents.
Fractions as
division.
Understand
percentages.
Fractions to
percentages.
Equivalent
fractions, decimals
and percentages.
Order fractions,
decimals and
percentages.
Percentage of an
amount — one
step.

Percentage of an
amount — multi-
step.
Percentages —
missing values.

Teddy knows that % is greater than a half and 42% is less than
11
20
Use Teddy'’s method to write “greater” or “less" to complete

the sentences,

a half because it is less than 50%, so is greater than 42%.

than 16 251 is

0.45is 30 =00

than 15%.

thon 0.309 135

50% is 54

than 0.5

Aisha knows that % is closer to 1 whole than o half, but 52% is

closer to o half than 1 whole, so % is greater than 52%.

Use Aisha’s method to write <, > or = to compare the amounts.

26 33
0.61 OEE% U.BDBOSD !5"I";\‘f:<)35

) 13 65 . .
Kim converts 0 to Too° which is equisalent to 65%.

5he uses this to recognise that 1—23 < 67%.
Use Kim's method to write <, > or = to compare the omounts.

4 9
98% ﬁO 38% 44% 50

Order the numbers from greatest to smallest,

34 24
0 BEY% 55

2 £l
50% s 0.45 0 54% 0.05
Write the values in ascending order.
1 21
5 0.48 7 65% 50 495

Key Questions:
What fraction/decimal/percentage is __
Which is the greater amount, or
know?
Which of the amounts are greater than a half?
Which of the amounts is closer to 1 whole?
Where do these amounts go on a number line?
Is it easier to convert the numbers to fractions, decimals or
percentages?

equivalent to?
? How do you

Is the statement true or false? Q

There is no fraction, decimal or

percentage that is greater than %

0.99 or 99%, but smaller than 1 whole.

Explain your answer. "-! £|
Write <, > or = to compare the amounts.

19
OI.1 'II]S'}'E.OE 1.EI'IO"IDD%

Stem Sentences:

Explain why % is greater than 87%.

Laa |

YEAR 6

Key
Vocabulary:
compare
order
decimal numbers
3 decimal places
ordered
fractions
numerator
denominator
conversion
percentages
amounts
half
closer/further away
whole
greater/smaller
equivalent

is greater/smaller than one half, and is smaller/greater than

one half, so is greater/smaller than :

is equivalent to , SO it is greater/smaller than .




Small Steps:

Decimal and
fraction
equivalents.
Fractions as
division.
Understand
percentages.
Fractions to
percentages.
Equivalent
fractions, decimals
and percentages.
Order fractions,
decimals and
percentages.
Percentage of an
amount — one
step.

Percentage of an
amount — multi-
step.
Percentages —
missing values.

There are two lots of 50% in 100%,

100%

50%

504

This means that to find 50% of on amount, you divide it by 2

Wark out 50% of each number.

240

360 170

There are four lots of 258 in 100%.

100%

25%

25% 25%

25%

This means that to find 25% of an amount, you divide it by 4

Work out 25% of each number.

240

360 170

Whot do youw notice about your answers?

Why does this happen?

Here is o method for finding 11% of 250

10% of 250 = 25
1% of 250 = 2.5
11% of 250 =35+ 25=275

IIse this method to work out the percentages.

11% of 400

51% of 400 21% of 400

26% of 400

Key Questions:
How are percentages and fractions similar/different?
How do you find a fraction of an amount?
How can you represent this question with a bar model?
How many lots of 10/20/25/50% are there in 100%?
What do you need to divide a number by to find
10/20/25/50%?
What strategies could you use to divide by __?
How can you find 1%/10%/20%/25%/50% of a number?
How can you use 10% to find 30%?
How can the percentage 36% be made using 1%, 5%,
10%, 20%, 25%, 50% and 100%?
If you know 1% of an amount, how can you work out 37%
of that amount?
If you know 1% of an amount, how can you work out 99%
of that amount?

Stem Sentences:
There are lots of % in 100%.
To find % of a number, I need to divide by :

The whole amount is worth _ %.
To find ___ %, I need to divide the whole by .
If 100% is equalto ___,then % isequalto
_ % is made up of %, and __ %.
% of is equalto ___.
If 100% is equalto ___,then _ % isequalto

% is equal to lots of %.

YEAR 6

Key
Vocabulary:
calculate
percentages
amounts
fractions
one-step
dividing
bar models
efficient
calculation
digits
halving

formal written method

similar/different
lots of
worth
whole
equal to
multi-step
multiples
multiply
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Key
Vocabulary:
Small Steps: :;zi:lhl::zw 108 of o number, you can multiply by 10 to find Keg Questions: percentages -
1. Deamal and ' * If you know % of a number, how can you work out whole number
fracpon 100% the whole? lots of
5 Equw,alents' 10% | 10% | 10% | 10% | 10% | 10% | 10% | 10% [ 10% [ 10% | * How many lots of % are there in 100%? multiply
- fractions as * If you know 23%, how can you find 1%? Once you know divide
division. Work out the missing numbers. 1%, how can you ﬁnd 100%? JcraCtlonS
3. Understand 10% of =28 10% of =709 * If you know 40%, how can you find 10%
percentages. 10% of _ 45p 10% of =389 *  Once you know 10%, how can you find 100%?
4. Fractions to * How can linking percentage’s to fractions help you to
perc.entages. answer this question?
3. Equtvalent Tom knows that 30% of a number is 210
fractions, decimals L . o I
He then works out the whole by finding 10% first. Fill in the missing values to make @I
and percentages. 12% of o number is 36

the statement correct.

6.  Order fractions, 10% = 210 + 3 = 70
100% = 70 x 10 = 700

I can find 1% by

&

decimals and - ~ e~ dividing by 12, then multiply by

percentqges, Use Tom's method to work out the missing numbers. a - o 100 1o find the whole.
7. Percentage of an 30% of = 360 70% of =49

Use Maox's method to find the whole.

amount — one Q0% of = 0.36 kg &0% of =92p Can you find more than one way?

step.
8. Percentage of an

nt — multi-

amount — muft Use the bar models to work out the missing numbers.

step. s e Stem Sentences:
Q. Pgrc?ntages - — - x ~ - If % of a number is , then the whole is :

missing values. |2ma | 20% | 20% | 20% | zu%| 250 | 25% | 25% | 25% | e There are lots of % in 100%.

=846 - If % of a number is , then 1% of the number is , so 100%
is

60% of =1,254 75% of




